Question Paper Preview

Notations :
1.Options shown in green color and with %" icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Question Paper Name : LAVISHI TGTMATHS 4SEPS1
Subject Name : TGT Maths-(Male)
Creation Date : 2021-09-04 12:28:30
Duration : 120

Total Marks : 200

Display Marks: Yes

Share Answer Key With Delivery Engine : No

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

General Ability

Group Number : 1
Group Id : 92775999
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Ability

Section Id : 927759115
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759137
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9277593414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

FM:1J:: EP:?
Options :
1. ¥ MH
2. % GM
3. ¥ HM
4. % HL



Question Number : 1 Question Id : 9277593414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

FM:1J:: EP:?
Options :
1. ¥ MH
2. % GM
3. ¥ HM
4. % HL

Question Number : 2 Question Id : 9277593415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. * A3D
2. ¥ DIF
3. % E3H
4. * F9O

Question Number : 2 Question Id : 9277593415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T imedl H @ & T RfYd a5 A U &1 gTalTP, T faped 3 diF o1 oRe el ¢ | 39 f[dhcd o1 I8 &Y off 30 ¥ 3T B
Options :

1. % A3D

2. ¥ DIF

3. % E3H

4. % F90O




Question Number : 3 Question Id : 9277593416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % 21-6
2.9%46-16
3. % 42-12
4. % 84-24

Question Number : 3 Question Id : 9277593416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuH 81 gTlTe, T faeed 3/ diF ot aRE Tl ¢ | 39 A et o1 I &Y oY 30 ¥ 3T B
Options :

1. % 21-6

2.9 46 - 16

3. % 42-12

4. % 84 -24

Question Number : 4 Question Id : 9277593417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

NPY, KNX, HLW,
Options :
1. ¥ FKV
2. % FJV
3. % EKV
4. ¥ EJV



Question Number : 4 Question Id : 9277593417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad aR e o Q1

NPY, KNX, HLW,

Options :

1. ® FKV

2. % FIV

3. ®* EKV

4. ¥ EJV

Question Number : 5 Question Id : 9277593418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the given series.

0, -6, -24, -65, -120, -210
Options :

1. % -6

2. % 24

3.9 -65

4. % 210

Question Number : 5 Question Id : 9277593418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

173 e H TTd US 1 B |

0, -6, -24, -65, -120, -210
Options :

1. * -6

2. % 24




3.¥ -65
4. % -210

Question Number : 6 Question Id : 9277593419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following expression is true if the expression M > N <D =S <F > < U is definitely true?
Options :

1. %* M>S

2. % S<U

3.9F>N

4. * F>M

Question Number : 6 Question Id : 9277593419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofifed & @ oF @ sifteafad g 8 afg siff@fdM>N<D=s<F>1<URdFud aa&?
Options :

l.* M>S

2. % S<U

3.9F>N

4. * F>M

Question Number : 7 Question Id : 9277593420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are six players Rubi, July, Mitu, Prita, Aman, and Rohan in a team. Prita is shorter than only 3 players. Aman is taller than Rohan but not
the tallest. Rohan is taller than Prita. Rubi is taller than July. July is not the shortest. How many players are taller than July?

Options :
1. %1
2. %2
3.%3



4.9 4

Question Number : 7 Question Id : 9277593420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¢ 1§ 38 faare e, S, #iq, Wi, 3 8iR g g | Wil daa 3 faanfedi T 81t g1 3/ g A a1 § Afde Yoy dal el g |
e, W1 ¥ T g | ol St § el 81 et oY Biel el ¢ | fhan Raars! St ¥ @ g2

Options :

1% |

2. %2

3.% 3

4.9 4

Question Number : 8 Question Id : 9277593421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For selection in IT companies through campus placement certain eligibility criteria has been set up.

Following are some requirements as I'T companies are looking for some decent candidates for recruitment.

1) Candidate should have at least 8 CGPA as average of all the semester exams. CGPA is the score which a student gets in semester exams out of
10.

i1) Candidate should not have any backlog in the semester exams.

ii1) Candidate should have done Bachelor of Technology in computer science.

iv) Candidate should not be less than 21 years of age and also not more than 24 years of age.

In the case of a student fulfilling all the conditions except

a) At ii) above, a candidate has CGPA of more than 8.2, then he would be eligible for interview.

b) At i) above, a candidate has managed to score at least 7.5 CGPA and has no backlog, then he will be eligible for written test.

In question below, details of one candidate are provided. You have to take one of the following course of actions based on the conditions given
above and the information provided in the question and mark the number of that course of action as your answer.

Nishu, a 22-year-old girl has an average CGPA of 8 in all semesters and has one backlog. She is a graduate in Bachelor of Technology in
Mechanical Engineering.

Options :

1. # She will be selected.

2. ¥ She will not be selected.

3. # She will be eligible for written test.

4. # She will be eligible for interview.



Question Number : 8 Question Id : 9277593421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I9pT 99 fobar STE|

2. ¢ BT I g1 g1

3. % g forRad uRien & o ur gt

4. % g FI&THR o fore g gt

Question Number : 9 Question Id : 9277593422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are the conditions for selecting a candidate for MBA in a top college-
The candidate must-

1) Be not more than 26 years of age on 1 July 2021.

i) Be a 10th pass with minimum 90% marks.

ii1) Be a 12th pass in any discipline with minimum 90% marks.

iv) Have secured minimum 70% in Group Discussion.

v) Have secured minimum 75% in Personal Interview.



In the case of candidate who fulfils all the conditions except

a) At iii) above, but has secured at least 85% in class 12th with science stream ,his/her case is to be referred to department head of MBA.

b) At v) above, but has secured at least 70% in Personal Interview, his/her case is to be referred to admission committee.

In question below, details of one candidate are provided. You have to take one of the following courses of action based on the conditions given
above and mark the number of that course of action as your answer. All these cases are given to you as on Ist July 2021.

Neha scored 87% in 12th in Science stream and 92% in 10th class. She scored 75% in personal interview and 75% in Group Discussion. She was
born on 24th April 1997.

Options :

1. * The candidate is selected.

2. # The candidate is not selected.

3. ¥ The case is referred to department head of MBA.

4. # The case 1s referred to Admission Committee.

Question Number : 9 Question Id : 9277593422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % IWicaR &1 94 fear T gl

2. % IECIR BT Iu- gl fhar T g |

3. « AU MBA & fauTene & Tefiia fosar mar g |
4. % HTHQ Uaw IAfY o Yefifa fear man g1

Question Number : 10 Question Id : 9277593423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the given series:

125,102, 81, 62,45,
Options :

1. % 32

2. % 3]

3. % 33

4. % 30

Question Number : 10 Question Id : 9277593423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 TS I H qud e I B

125,102, 81, 62,45,
Options :

1. % 32

2. % 31

3. % 33

4. % 30

Question Number : 11 Question Id : 9277593424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following question is based on the five three-digit numbers given below.

625 463 875 327 136

If the second and third digits of each of the numbers are added, the resulting sum of which of the following numbers will not be exactly divisible
by 3?

Options :
1. ® 463
2. % 875
3.9 625
4. % 327

Question Number : 11 Question Id : 9277593424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad uy i few v uie di9-3iety Ten wR snutiRd g1

625 463 875 327 136
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Options :

1. % 463

2. % 875

3. ¥ 625

4. % 327

Question Number : 12 Question Id : 9277593425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many such pairs of letters are there in the word "NORM" each of which has as many letters between them in the word (in both forward and
backward directions), as they have between them in the English alphabetical series?

Options :
1. #* One
2. % Three
3. % Two

4. % Four



Question Number : 12 Question Id : 9277593425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tec "NORM" H 31eR} & Tt forait sifet 8, o I Ul & &g e H (3 3R Ui A1 fammsii #) Ia- g1 s1eR g forda 37 g
3PSt guiaTa e H ]2

Options :

1. # Uh

2. % dH

3. 774

4. % 9dR

Question Number : 13 Question Id : 9277593426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the following statements and answer the question on their basis.
A @ B means that A is the mother of B.

A # B means that A is the father of B.

A'$ B means that A is B's brother.

A % B means that A is sister of B.

In expression A $ B # C @ D, how is B related to D?

Options :

1. * Maternal uncle

2. #* Brother

3. * Father

4. ¥ Maternal Grandfather

Question Number : 13 Question Id : 9277593426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [

2. % Yig

3. % U

4.« M

Question Number : 14 Question Id : 9277593427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons A, B, C, D, E and F are sitting in a row facing North. B sits to the left of D who sits to the immediate right of E. F sits to the
immediate left of C who sits to the right of D. A sits at the leftmost position. Which of the following option is correct about the arrangement?

Options :

1. # F is fourth to the left of B

2. % (C is sitting fifth to the right of B
3. ® A is sitting fifth to the right of F
4. ¥ E sits third to the left of C.

Question Number : 14 Question Id : 9277593427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEAMIA,B,C, D, EARFIG A A TR P IR TI FRP d6 6| B,DH AW H 9318, SN E F 31 qU A BT | F, C P 31 a1 H 937
SN DPSUHABIEI A, U 91U R R 931 8 | TR & IR & FaferiRad & I o149 91 fdhed It 82

Options :

. % EBH AN AAUTS

2. % C,B® aN Y Ud RIM R I3T8

3. % A FP U Y U ”HF R 3T 8

4. Y E CHIEY TR YA R ISR




Question Number : 15 Question Id : 9277593428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The loss incurred by selling an article for Rs. 11596 is equal to the profit incurred when the same article is sold for Rs. 16040. What should be the
selling price to make 50% profit?

Options :

1. ¥ Rs. 20727
2. % Rs. 20277
3. % Rs. 13818
4. # Rs. 20027

Question Number : 15 Question Id : 9277593428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T BT 11596 SUY H 99 TR §5 81 ST g B 16040 ¥UT H 97 TR T ATH & SRR g | 50% AT 3ifofd dx & fore fasha gea &
BT 1R Y?

Options :

1. % 20727 34U

2. % 20277 34U

3. % 13818®UU

4. % 20027 2UUQ

Question Number : 16 Question Id : 9277593429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



Options :

3. ¢



Question Number : 16 Question Id : 9277593429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& e IR SHiadl § ¥, I i 1 99 B ford Uy enepfa fsdtafafed g

Options :



3.¢

Question Number : 17 Question Id : 9277593430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :



4. v



Question Number : 17 Question Id : 9277593430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Riwedl 7 @ & T Rfyd % A U &1 gTlTP, T faoed 3 diF ol oRE el ¢ | 39 fdhcd o1 I8 &Y off 310 ¥ 3T B

Options :



Question Number : 18 Question Id : 9277593431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figure is the correct mirror image of the given figure?

Options :

1. ¢



Question Number : 18 Question Id : 9277593431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe; Teb TN BT ¥GT AB TR 3T W1l &, dl ITR 3M1pfa H J B Tt & 7 3fipfa oY It e 33 32

Options :

1. ¢



Question Number : 19 Question Id : 9277593432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, the triangle represents 'poets', the circle represents 'teachers' and the rectangle represents 'writers'. The number
given in the diagram represents the number of persons of that particular category.
How many teachers are poets but not writers?

Options :



1.¥3
2.% 5
3. %7
4.%9

Question Number : 19 Question Id : 9277593432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad a7 sma , s wfa &1 ufafftica wxar 8, 30 el &1 ufafAfia war 8 iR Siad sl &1 ufafAfia HRar g1 s
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Options :
1.¥3
2. %5
3.% 7
4. %9

Question Number : 20 Question Id : 9277593433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?



Options :

1. #®

2. ¥



Question Number : 20 Question Id : 9277593433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 IR onepfd § f5 o9 &1 Uy Siepfa T 781 HIg T 99 & YR UR gl §1a1 I Il 82

Options :



1. ®

2.9



General Awareness

Group Number : 2

Group Id : 927759100
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 927759116
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759138
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277593434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the Bafta TV Awards 2021 who won the best actress (drama) award?
Options :



1. ¥ Michaela Coel
2. # Hayley Squires
3. % Molly Windsor
4. # Billie Piper

Question Number : 21 Question Id : 9277593434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U] Sldl DR 2021 T FA9§ A (\ATCH) BT RIBR fora= St
Options :

1. ¢ HIghl T

2. % g WIW

3. % Hicht fdgmR

4. % foell U

Question Number : 22 Question Id : 9277593435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The WHO has declared this country as Malaria free. Which country is this?
Options :

1. # India

2. % China

3. ¥ Nepal

4. ® Japan

Question Number : 22 Question Id : 9277593435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHO 9 39 S &I AR ad 9iftd o= fqar g1 g8 & [ e 82

Options :
1. % HRd



2. ¥ I
3. % AU
4. % U

Question Number : 23 Question Id : 9277593436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which book the Greek writer Megasthenes wrote?
Options :

1. # History of India

2. ¥ Indika

3. * Indus Country

4. % Hindu Civilization

Question Number : 23 Question Id : 9277593436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A g AR A 1 I g fordt 8
Options :

1. % fgt offws Sfean

2. ¢ Sf&DI

3. % S &l

4. % feg fRyfqamzoRH

Question Number : 24 Question Id : 9277593437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sixteen great powers (Mahajanpadas) existed in which century?
Options :

1. * 3rd and early 4th centuries BC.

2. % 8th and early 9th centuries BC.



3. # st and early 2nd centuries BC.
4. ¥ 7th and early 6th centuries BC.

Question Number : 24 Question Id : 9277593437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hicig HeTRIfRTAN (HETeUe) fbd Trared! # 3ifia & Ui
Options :

1. % 33 3R TR 42t =rTsdl BC

2. % gt SR IR odf TdTsd] BC

3. % 1 SR IR 23 TraTect BC

4. ¢ 73t 3R URMYS 631 Tdlec] BC

Question Number : 25 Question Id : 9277593438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the Vice-president of India (As on August 2021)?
Options :

1. ® Kocheril Raman Narayanan

2. % Mohammad Hamid Ansari

3. ¥ Venkaiah Naidu

4. ® Bhairon Singh Shekhawat

Question Number : 25 Question Id : 9277593438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & (3T 2021 d) IWIFURT B G 2

Options :

1. % HIERIA AT AR
2. % HIgHE gIiHg 3O
3. ¢ dpaT IS




4. % WRIRig AY@rad

Question Number : 26 Question Id : 9277593439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Chairman of the Drafting Committee of the Indian Constitution?
Options :

1. # Dr. Rajesh Prasad

2. % Dr. Sachchidananda Sinha

3. ¥ Dr. B. R. Ambedkar

4. # Dr. Rajendra Prasad

Question Number : 26 Question Id : 9277593439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WG o1 URey Wiifd & sregel i A2
Options :

1. % ST ORI TG

2. % ST gferer—< Rl

3. ¢ Sl dl. 3R, 3MISHR

4. % ST olg UG

Question Number : 27 Question Id : 9277593440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The name of the National sports of Pakistan is:
Options :

1. ¥ Hockey

2. # Football

3. % Cricket

4. % Volleyball



Question Number : 27 Question Id : 9277593440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & I Wl BT M 6:
Options :

1. ¢ gl

2. % padld

3. % fopare

4. % qratsid

Question Number : 28 Question Id : 9277593441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1985, Olympics (National Games) were held in which city of India?
Options :

1. # Surat

2. % Bombay

3. ¥ New Delhi

4. # Kochi

Question Number : 28 Question Id : 9277593441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1985 H, 3IcifUes (IPTY W) HRd & fobd g H Hiford fbu 71w 32
Options :

1. % Id

2. % §i

3. ¢ % foedt

4. % Dl



Question Number : 29 Question Id : 9277593442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bihar is popular for which of the following style of paintings?
Options :

1. ¥ Madhubani

2. % Kalamkari

3. % Gond

4. % Warli

Question Number : 29 Question Id : 9277593442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foRR FafiRad o 9 forg et 31 REeRT & e IRk 2
Options :

1. ¢ AYSH

2. % HAHDRI

3. % Tig

4. % RAl

Question Number : 30 Question Id : 9277593443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohiniyattam dance form belongs to which state of India?
Options :

1. # Punjab

2. # Gujrat

3. ¥ Mabharashtra

4. ¥ Kerala

Question Number : 30 Question Id : 9277593443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Hife-Nerey T et YRd & o ITo9 T Taifera 72
Options :

1. % Uole

2. ® I[SRId

3. % HERIY

4. B

Question Number : 31 Question Id : 9277593444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the right location of World's longest river.
Options :

1. ¥ Africa

2. % Asia

3. % Europe

4. % America

Question Number : 31 Question Id : 9277593444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fasy Bt e Tfell Tt b TE1 R DT TG B |
Options :

1. ¥ 3BIchI

2. % TRMA

3. % R

4. % ORI

Question Number : 32 Question Id : 9277593445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



As saltwater, what percentage of the earth's water is found in oceans?
Options :
1. % 0.57
2.9 0.97
3. % 0.67
4. % 0.99

Question Number : 32 Question Id : 9277593445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o & ¥4 H, et &1 fohd=1 Ufa=rd STd AeRmRI & Ur SiTd g2
Options :

1. % 0.57

2.9 0.97

3. % 0.67

4. % 0.99

Question Number : 33 Question Id : 9277593446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Current (As on 22 May 2020) Repo Rate is:
Options :

1. ¥ 0.04

2. % 0.03

3. % 0.045

4. % 0.08

Question Number : 33 Question Id : 9277593446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IIHM (22 HS 2020 TPH) I &R B:

Options :



1.+ 0.04
2. % 0.03
3. ¥ 0.045
4. % 0.08

Question Number : 34 Question Id : 9277593447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ozone layer helps to protect life from which harmful radiation?
Options :

1. # Beta radiation

2. ¥ Ultraviolet radiation

3. % RF radiation

4. # Ultrared radiation

Question Number : 34 Question Id : 9277593447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TR Sita B! fobd g B Re fafasur 4 s H Hag o o7
Options :

1. ® dffer fafbror

2. ¢ TRISTHT (3feearae) fafaor

3. % RF fafeur

4. % 3fegRe fafdur

Question Number : 35 Question Id : 9277593448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cooking gas acronym LPG stands for:
Options :

1. * Loose petroleum gas



2. # Light petroleum gas
3. # Liquefied purpose gas
4. ¥ Liquefied petroleum gas

Question Number : 35 Question Id : 9277593448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1S 19 1 Wiaie A1 LPG 1 quf 4= &:
Options :

1. % o Uciferad 19

2. % qIge Ueifergd

3. % fafdwes Tdu T

4. ¢ T wEs Uiy T4

Question Number : 36 Question Id : 9277593449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the first anti-satellite (ASAT) missile has tested by India?
Options :

1. ¥ Mission Shakti

2. ® Mission Bhakti

3. # Mission Shanti

4. ® Mission Ganga

Question Number : 36 Question Id : 9277593449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd gRT U0 Bt TS Ugelt Uet-Aearge fiarsd o It g2

Options :

1. « o= wifad
2. % Ti=E yigd



3. % fizE wifa
4. % TRE T

Question Number : 37 Question Id : 9277593450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to researchers from Spain, which Vitamin supplements can decrease the Covid-19 admission rate in ICU?
Options :

1. ® BI12

2.¢D

3.% A

4. % C

Question Number : 37 Question Id : 9277593450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA F Meycbdisit & TR, P 1 fFerftd Twfide 1cu H $Ifs-19 & Y 3R Bl HH B Gl 82
Options :

1. % B12

2.¥D

3.% A

4. % C

Question Number : 38 Question Id : 9277593451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Head Office of the United Nations Conference on Trade and Development (UNCTAD) is located at:
Options :

1. # Shanghai, China

2. % Kathmandu, Nepal

3. ¥ Geneva, Switzerland

4. ¥ Washington, D.C., United States



Question Number : 38 Question Id : 9277593451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG Y ATUR SR fahTg FHeH o1 g8 Hraferd fRd 6:
Options :

1. ® TfETg, o

2. % B3I, AU

3. ¢ foar, RaeoRds

4. % gIRITeA, S1.41., Igdd I AR

Question Number : 39 Question Id : 9277593452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the Indian with the most number of Oscar awards?
Options :

1. % Ranveer Singh

2. # Bhanu Athaiya

3. ¥ Amir Khan

4. % A.R. Rahman

Question Number : 39 Question Id : 9277593452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31T SRR GRIBR Shia- aTe YR B g2
Options :

1. * 0GR Rig

2. % YT 32T

3. % MR @M

4.« W3R YgHH




Question Number : 40 Question Id : 9277593453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which female won the Nobel Peace Prize in 2014?
Options :

1. # Marie Curie

2. ¥ Malala Yousafzai

3. # Mother Teresa

4. % Louise Gliick

Question Number : 40 Question Id : 9277593453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2014 H foo Afean - Tt Aifd REBR Sfaw
Options :

1. % O g

2. ¢ HATA IS

3. % HER ORI

4. % U D
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Question Number : 41 Question Id : 9277593454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the quotient when the biggest 4-digit number divisible by 16 is divided by 28.
Options :

1. #® 375

2. % 370

3. % 350

4. ¥ 356

Question Number : 41 Question Id : 9277593454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTh A JTd B 59 16 J AU 4-370 1T T8 98T T3 &1 28 T faviiord fear srar g1
Options :

1. ® 375

2. % 370

3. % 350




4. % 356

Question Number : 42 Question Id : 9277593455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Convert the following into fractions:

2.0006, 4.0088

Options :

1. # 10003/2500, 5011/1250
2. % 10003/5000, 5011/1520
3. % 10003/5000, 5011/1250
4. % 10003/5000, 5000/1250

Question Number : 42 Question Id : 9277593455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafeRad o fidl § 9ad:

2.0006, 4.0088

Options :

1. ¥ 10003/2500, 5011/1250

2. ¥ 10003/5000, 5011/1520

3. % 10003/5000, 5011/1250

4. ¥ 10003/5000, 5000/1250

Question Number : 43 Question Id : 9277593456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If p/q = 7/4 then what is (p*-q*)/(p*+q*)?
Options :

1. % 0.50

2.9 0.51



3. % 0.52
4. % 049

Question Number : 43 Question Id : 9277593456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afe pig = 7/4 A (pr-q)/(p+) FATT?
Options :

1. * 0.50

2.9 0.51

3. % 0.52

4. % 0.49

Question Number : 44 Question Id : 9277593457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the smallest 4 digit number when divided by 15, 24, 30 leaves a common remainder 9.
Options :

1. % 1200

2. % 1201

3.9 1209

4. % 1203

Question Number : 44 Question Id : 9277593457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 3] B TIY BICT T 1 B 9 15, 24, 30 F FIUIRIT A TR AR A9 9 UIed giel |
Options :

1. %* 1200

2. % 1201

3.9 1209

4. % 1203



Question Number : 45 Question Id : 9277593458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three numbers given: 27, 42, 57. Find the largest number that divide and give a remainder of 10, 8 and 6.
Options :

1. % 13

2. % 11

3.¢¥ 17

4. % 19

Question Number : 45 Question Id : 9277593458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M et 1 IS §: 27, 42, 571 TEY TS WA 1A B o FIUTIRI B R SR [ 10, 8 3R 6 St 8
Options :

1. % 13

2. % 11

3.¥ 17

4. % 19

Question Number : 46 Question Id : 9277593459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of cube of 3 numbers that are in the ratio 4:5:6 is 50625. What are the numbers?
Options :

1. # 25,20, 30

2. % 30, 25,20

3. # 20, 30, 25

4. v 20, 25, 30



Question Number : 46 Question Id : 9277593459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TSt & O BT ART Sl 4:5:6 & U H 8, T8 50625 ¢ | TBATY &1 82
Options :

1. = 25,20, 30

2. % 30, 25,20

3. % 20,30, 25

4.+ 20,25, 30

Question Number : 47 Question Id : 9277593460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school trip, the ratio of students to teachers are 16:1. What is the number of teachers required in the trip if there are 112 students?
Options :

1. %5

2.% 6

3.7

4. % 8

Question Number : 47 Question Id : 9277593460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS faeea IR |, B 9 R &1 3guTd 16:1 ¢ 1 afe 112 faamff €, @ TR & fovam fR1er! &1 saxaendt gri?
Options :

1. %5

2.% 6

3.7

4. % 8

Question Number : 48 Question Id : 9277593461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What percent 12 mm is of 18 cm?
Options :

1. ¥ 6.67%

2. % 6.6%

3. % 6.7%

4. % 7.0%

Question Number : 48 Question Id : 9277593461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
12 mm, 18 cm &7 faa=1 Uf=Id 872
Options :

1. ¥ 6.67%

2. % 6.6%

3. % 6.7%

4. % 7.0%

Question Number : 49 Question Id : 9277593462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30% of a number is 12 more than 1/6th of that number. What is that number?
Options :

1. = 80

2. %70

3.4 90

4. % 60

Question Number : 49 Question Id : 9277593462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ot BT T 30%, I T-TF 1/6 UFT ¥ 12 3HfAF © | T8 WA 1 57



Options :
1. % 80
2. %70
3.4 90
4. % 60

Question Number : 50 Question Id : 9277593463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 people went on a lunch together to a hotel. The expenses for 10 of them is Rs. 400 each. The expense of 10th person is Rs 100 more than the
average of all the 11 people. What is the expense of the 11th person?

Options :

1. # 410 rupees
2. % 510 rupees
3. % 490 rupees
4. % 500 rupees

Question Number : 50 Question Id : 9277593463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 AT Bled H U 1Y GIUeR & HivH & faru T Q| S8 9 10 & oI o0 Ud® 671400 TUT B | 109 A BT g JH 11 < & i ga 3
100 BT 3ffYH g1 113 A BT T T 82

Options :

1. # 410U
2.9 510U
3. % 490 ¥=UU
4. % 500%¥4U

Question Number : 51 Question Id : 9277593464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are 3 numbers. If second number is 7 times the third number and second number is twice first number. The average of 3 numbers is 23.



What is the smallest number?
Options :

1.¥6

2. % 21

3.% 12

4. % 3

Question Number : 51 Question Id : 9277593464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%W%Iﬁmmmﬁwlﬁ7 T 8 3R gORT TReAT Ug el ST Bt &l T 5 | 3 Terafl 7 37id 23 8 | 9a Bict A
?

Options :
1.¥6
2. % 21
3. % 12
4. %3

Question Number : 52 Question Id : 9277593465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sold two tables for Rs. 55450 each. On one he gains 18% and on the other he loses 18%. What is the gain or loss percentage in the entire
transaction?

Options :

1. ¥ 3.24% loss
2. % 3.2% loss

3. # 3.4% gain

4. % 3.42% gain

Question Number : 52 Question Id : 9277593465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



w&ri%fr%msowmﬁaﬁaéwwws@rls%mm{sﬁm%sﬁ?mwaﬁ 18% 1 g Bl & | T aia | a1y a1 g1+
=T &1 87

Options :

1. ¢ 3.24% BT
2. % 32% Bl

3. % 3.4%dY

4. % 3.42% <Y

Question Number : 53 Question Id : 9277593466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sold an article at Rs. 279 at a loss of 10%. What would be the gain percentage if he sells the same article at Rs. 372?
Options :

1. * 18%

2. % 19%

3. % 21%

4.9 20%

Question Number : 53 Question Id : 9277593466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP G A TP I D 10% DI g1 TR 279 $UT H o471 Al T8 ST 9 1 372 TUU H Sl § dl arH Uia=Id o1 g
Options :

1. * 18%

2. % 19%

3. % 21%

4.9 20%

Question Number : 54 Question Id : 9277593467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the single equivalent discount of 16%, 20% and 24% successive discounts?



Options :

1. ¥ 48.93%
2. % 48.00%
3. % 48.39%
4. % 48.90%

Question Number : 54 Question Id : 9277593467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16%, 20% 31R 24% SHiHE Fe BT Thd T He 1 7?2
Options :

1. ¥ 48.93%

2. % 48.00%

3. % 48.39%

4. % 48.90%

Question Number : 55 Question Id : 9277593468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest and compound interest on a certain sum of money is Rs. 80100 and Rs. 81902.25. The duration for which the interest was
calculated is 2 years. Find the sum of money?

Options :

1. # Rs. 800000
2. % Rs. 900000
3. % Rs. 890000
4. % Rs. 980000

Question Number : 55 Question Id : 9277593468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT A IR WYRO S 3R Ihgia ST 80100 FUT 3R 81902.25 TUY & | FoI 3rafy & o saret &1 o1 1 18 R ag 2 av 7
HENINRIGE XY,




Options :

1. % 800000 ®UUQ
2. % 900000 >4JQ
3. % 890000 >UU
4. % 980000 ®UU

Question Number : 56 Question Id : 9277593469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sphere of diameter 18 cm is drawn into a wire of 1cm radius. What is the length of the wire?
Options :

1. % 927 cm

2.% 972 cm

3. % 792 cm

4. % 729 cm

Question Number : 56 Question Id : 9277593469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 18 cm & A B 1 cmﬁ@T%ﬂRﬁ@ﬁﬂTW%l awﬁa‘q"rs‘w%?
Options :

1. % 927 cm

2. ¥ 972 cm

3. % 792 cm

4. % 729 cm

Question Number : 57 Question Id : 9277593470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suresh can do a piece of work in 9 days and Nimesh can do the same work in 18 days. They both work together for 4 days and Suresh left after
that, how long will now Nimesh take to complete the work?

Options :



1. # 5 days
2. ¥ 6 days
3. * 4 days
4. % 7 days

Question Number : 57 Question Id : 9277593470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W TH BT B 9 el H R Yopa1 7 3R 0w S wrf o1 18 31 H R W1 21 3 1 4 31 dp Up W1 1 v § 3R R ISP
1 T I ©, 316 U SR &1 R A § foa-1 Iu o

Options :

1. % sfeq

2. ¢ 6fea

3. % 4faq

4. % 714

Question Number : 58 Question Id : 9277593471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train is 135m long. The speed of the train is 45kmph. How many seconds will the train take to pass a pole?
Options :

1. * 10 secs

2. % 11 secs

3.9 10.8 secs

4. % 11.8 secs

Question Number : 58 Question Id : 9277593471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ITATMST 135m ol & | YIS B 1A 45kmph 8 | THTTS! T W B UR 64 | fobd s T JHT TR

Options :



1. % 10958
2. % 11 9H8
3.¢ 10.8 9Hs
4. % 11.89FS

Question Number : 59 Question Id : 9277593472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the average number of students in maths subject?

® Maths = English = Science
400 -
356

oy

=

3

=

i<

2

E

3

=

School A School B School €
School

Options :
1. % 279
2. ¥ 297
3. %205
4. % 290

Question Number : 59 Question Id : 9277593472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TIford fowa & @ @) 3Nd ST fhat 82

p A oSN 0 RAn

356

SIE Y FEAT

Options :
1. % 279
2.9 297
3. % 295
4. % 290

Question Number : 60 Question Id : 9277593473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the production of cars in different countries over two year. In how many countries the production of car has increased by less
than 10% in the year 2020 over the last year?



-=-2019 2020

B20 -

780 -

734
760 -

736 744 270 744
740 -

720 -
700 -

Production of cars

India China Nepal Pakistan Sri Lanka
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Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 60 Question Id : 9277593473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ 1
2. %2
3. %3
4. % 4
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General English

Section Id : 927759118
Section Number : 1

Section type : Online
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Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 927759140
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277593474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Only after such preparatory measures- if / necessarily spreading over a period of many years- will public / attention and public resolution be fully
aroused.

Options :

1. # Only after such preparatory measures- if

2. ¥ necessarily spreading over a period of many years- will public
3. % attention and public resolution be fully aroused.

4. % No Error

Question Number : 61 Question Id : 9277593474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

Only after such preparatory measures- if / necessarily spreading over a period of many years- will public / attention and public resolution be fully
aroused.

Options :

1. # Only after such preparatory measures- if

2. ¥ necessarily spreading over a period of many years- will public
3. % attention and public resolution be fully aroused.

4. % No Error

Question Number : 62 Question Id : 9277593475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The first preliminary criteria to be fulfilled before / the state can claim moral right to fight against all these things is that the young / generation
should be afforded facilities for contracting an early marriage.

Options :

1. ¢ The first preliminary criteria to be fulfilled before

2. # the state can claim moral right to fight against all these things is that the young
3. % generation should be afforded facilities for contracting an early marriage.

4. # No Error

Question Number : 62 Question Id : 9277593475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The first preliminary criteria to be fulfilled before / the state can claim moral right to fight against all these things is that the young / generation
should be afforded facilities for contracting an early marriage.

Options :
1. ¥ The first preliminary criteria to be fulfilled before



2. # the state can claim moral right to fight against all these things is that the young
3. % generation should be afforded facilities for contracting an early marriage.
4. # No Error

Question Number : 63 Question Id : 9277593476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Our values determine (those metrics under which we measure) ourselves and everyone else.
Options :

1. ® the metrics from which we measure

2. % those metrics from which we measure

3. % the metrics by which we measure

4. ® No correction required.

Question Number : 63 Question Id : 9277593476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Our values determine (those metrics under which we measure) ourselves and everyone else.
Options :

1. # the metrics from which we measure

2. % those metrics from which we measure

3. % the metrics by which we measure

4. ® No correction required.

Question Number : 64 Question Id : 9277593477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I’m keenly aware of (Principal of Priority, that states; you should) know the difference between what is urgent and what is important, and, you
must do what’s important first.

Options :

1. ¥ the Principle of Priority, which states; you must

2. % that Principle of Priority, which states; you should)
3. # the Principal of Priority, which states; you must)
4. ® No correction required.

Question Number : 64 Question Id : 9277593477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I’m keenly aware of (Principal of Priority, that states; you should) know the difference between what is urgent and what is important, and, you
must do what’s important first.

Options :

1. ¥ the Principle of Priority, which states; you must

2. # that Principle of Priority, which states; you should)
3. # the Principal of Priority, which states; you must)

4. # No correction required.

Question Number : 65 Question Id : 9277593478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

They offered  and manifestly crazy productions to their amazed contemporaries.
Options :

1. ® lackadaisical

2. % inert



3. % incomprehensive

4. ¥ moony

Question Number : 65 Question Id : 9277593478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

They offered ~ and manifestly crazy productions to their amazed contemporaries.
Options :

1. # lackadaisical

2. * inert

3. ¥ incomprehensive

4. % moony

Question Number : 66 Question Id : 9277593479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence

The best other workers can give is to fight together for better pay ourselves.
Options :

1. # discord

2. # adoption

3. ¥ solidarity

4. # dissemination

Question Number : 66 Question Id : 9277593479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence

The best other workers can give is to fight together for better pay ourselves.



Options :

1. # discord
2. # adoption
3. % solidarity

4. % dissemination

Question Number : 67 Question Id : 9277593480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The EE British Academy Film Awards

P. British Academy of Film and

Q. or BAFTA Film Awards are presented in
R. Television Arts (BAFTA) to honour the
S. an annual award show hosted by the

best British and international contributions to film.
Options :

1. ¥ SRQP

2. % RQSP

3. % PQRS

4. ¥ QSPR

Question Number : 67 Question Id : 9277593480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



The EE British Academy Film Awards

P. British Academy of Film and

Q. or BAFTA Film Awards are presented in
R. Television Arts (BAFTA) to honour the
S. an annual award show hosted by the

best British and international contributions to film.
Options :

1. # SRQP

2. % RQSP

3. % PQRS

4. ¥ QSPR

Question Number : 68 Question Id : 9277593481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The Grammys had their origin in the Hollywood Walk of Fame project in the 1950s.

P. They determined to rectify this by creating awards given by their industry similar to the Oscars and the Emmys.
Q. After deciding to go forward with such awards, a question remained what to call them.

R. One working title was the ‘Eddie’, to honour Thomas Edison, the inventor of the phonograph.

S. As recording executives on the Walk of Fame committee compiled a list of significant recording industry people who might qualify for a Walk
of Fame star, they realized that many leading people in their business would not earn a star on Hollywood Boulevard.

Eventually, the name was chosen after a mail-in contest whereby approximately 300 contestants submitted the name 'Grammy', with the earliest
postmark from contest winner Jay Danna of New Orleans, Louisiana, as an abbreviated reference to the gramophone.

Options :



1. ¥ PQRS
2. ¥ SPQR
3. % QSRP
4. % RSQP

Question Number : 68 Question Id : 9277593481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The Grammys had their origin in the Hollywood Walk of Fame project in the 1950s.

P. They determined to rectify this by creating awards given by their industry similar to the Oscars and the Emmys.
Q. After deciding to go forward with such awards, a question remained what to call them.

R. One working title was the ‘Eddie’, to honour Thomas Edison, the inventor of the phonograph.

S. As recording executives on the Walk of Fame committee compiled a list of significant recording industry people who might qualify for a Walk
of Fame star, they realized that many leading people in their business would not earn a star on Hollywood Boulevard.

Eventually, the name was chosen after a mail-in contest whereby approximately 300 contestants submitted the name 'Grammy', with the earliest
postmark from contest winner Jay Danna of New Orleans, Louisiana, as an abbreviated reference to the gramophone.

Options :

1. ¥ PQRS
2. ¥ SPQR
3. % QSRP
4. % RSQP

Question Number : 69 Question Id : 9277593482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ®* RECCESSION
2. # RECCESION
3. ¥ RECESSION
4. % RECESION

Question Number : 69 Question Id : 9277593482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % RECCESSION

2. % RECCESION

3. ¥ RECESSION

4. # RECESION

Question Number : 70 Question Id : 9277593483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

PRIVILEGE

Options :

1. ¥ DETRIMENT

2. % RESPONSIBILITY
3. ¥ PREROGATIVE

4. % DISPENSATION

Question Number : 70 Question Id : 9277593483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.



PRIVILEGE

Options :

1. # DETRIMENT

2. % RESPONSIBILITY
3. % PREROGATIVE
4. ¥ DISPENSATION

Question Number : 71 Question Id : 9277593484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

LIBERTY

Options :

1. % DEPENDENCE

2. % INCARCERATION
3. ¥ REFUSAL

4. ¥ AUTARCHY

Question Number : 71 Question Id : 9277593484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

LIBERTY

Options :

1. * DEPENDENCE

2. % INCARCERATION
3. % REFUSAL

4. ¥ AUTARCHY

Question Number : 72 Question Id : 9277593485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word that is opposite in meaning (ANTONYM) to the word given below.

HYPOCRITE
Options :

1. % IMPOSTER
2. ¥ CHARLATAN
3. ¥ PHONY

4. ¥ INGENUOUS

Question Number : 72 Question Id : 9277593485 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Select the word that is opposite in meaning (ANTONYM) to the word given below.

HYPOCRITE
Options :

1. # IMPOSTER
2. # CHARLATAN
3. ¥ PHONY

4. ¥ INGENUOUS

Question Number : 73 Question Id : 9277593486 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Torrent

Options :

1. # A surprise violent attack.
2. # Sudden cyclone.

3. % Single track carved out of the mountain.

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. % A violent or forceful flow of fluid.

Question Number : 73 Question Id : 9277593486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Torrent

Options :

1. * A surprise violent attack.

2. # Sudden cyclone.

3. % Single track carved out of the mountain.
4. ¥ A violent or forceful flow of fluid.

Question Number : 74 Question Id : 9277593487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Loose talk

Options :

1. # Treat someone badly.

2. % Uninhibited, indiscreet talk or conversation.
3. % Behaving freely.

4. # Keeping secrets.

Question Number : 74 Question Id : 9277593487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Loose talk
Options :



1. #® Treat someone badly.

2. % Uninhibited, indiscreet talk or conversation.
3. % Behaving freely.

4. ® Keeping secrets.

Question Number : 75 Question Id : 9277593488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Shards bring luck

Options :

1. # The younger ones let the older ones go first.
2. ¥ If something breaks, you will be lucky.

3. % A favour is followed by a consideration.

4. % A single positive event does not mean that the turnaround has been made.

Question Number : 75 Question Id : 9277593488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Shards bring luck

Options :

1. # The younger ones let the older ones go first.
2. ¥ If something breaks, you will be lucky.

3. # A favour is followed by a consideration.

4. ® A single positive event does not mean that the turnaround has been made.

Sub-Section Number : 2
Sub-Section Id : 927759141
Question Shuffling Allowed : Yes

Question Id : 9277593489 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Most people use social media in one form or another. While there is nothing inherently wrong with that, and while social media can sometimes be
beneficial, it’s important to be aware that social media is associated with a number of issues and potential dangers, including stress, anxiety,
loneliness, and depression. Understanding the dangers of social media is important, both so you can deal with them yourself, and so you can help
others deal with them. As such, in the following article you will learn about the issues that are associated with social media, see who is most
vulnerable to them, and find out what you can do to deal with them effectively. There are many reasons why people keep using social media even
when it’s bad for them, and these reasons vary across individuals and across circumstances. One notable reason why people continue to use social
media even though it affects them negatively is that they’re simply unaware of its harmful influence. Furthermore, in some cases, people are
aware of the harmful influence that social media has on them, but they don’t care enough about these dangers to want to change their behaviour.
However, many people continue to use social media even though they know it’s bad for them and even though they want to stop, because they’re
psychologically predisposed to keep using it. For example, one study found that people keep using Facebook despite the fact that it makes them
feel bad, because they keep expecting it to make them feel better.

Sub questions

Question Number : 76 Question Id : 9277593490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. There are a number of potential dangers and issues associated with social media.
B. People continue using social media despite knowing its ill effects.

C. People use Facebook with the expectation that it will make them feel better.
Options :

1. * Only B is correct.

2. % A & B are correct

3. #* B & C are correct.

4. % All are correct.

Question Number : 77 Question Id : 9277593491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the meaning of 'psychologically predisposed ' from the above passage?
Options :

1. # Emotional addiction to the used of social media.

2. # Mentally preoccupied with the contents of social media.

3. % Emotionally or mentally unavailable to other people around them.

4. ¥ Mentally or emotionally inclined to the use of social media.

Question Number : 78 Question Id : 9277593492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not associated with health issues and potential dangers of using social media?
Options :

1. ® Depression

2. ¥ Sleeplessness

3. # Anxiety

4. ® Stress

Question Number : 79 Question Id : 9277593493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, select the most appropriate heading for the same.
Options :

1. # Ban Facebook

2. % Dangers of Social Media and How to Avoid Them

3. ® Life threatening effects of social media

4. % Subconscious Mind

Question Number : 80 Question Id : 9277593494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. Understanding the dangers of social media is important so that one can help themselves and others around them.



B. People do not care enough about the dangers of social media so as to change their own behaviour.

C. Social media is always unhealthy and dangerous.
Options :

1. # Only A is correct.

2. % A & B are correct

3. % B & C are correct.

4. % All are correct.

Question Id : 9277593489 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Most people use social media in one form or another. While there is nothing inherently wrong with that, and while social media can sometimes be
beneficial, it’s important to be aware that social media is associated with a number of issues and potential dangers, including stress, anxiety,
loneliness, and depression. Understanding the dangers of social media is important, both so you can deal with them yourself, and so you can help
others deal with them. As such, in the following article you will learn about the issues that are associated with social media, see who is most
vulnerable to them, and find out what you can do to deal with them effectively. There are many reasons why people keep using social media even
when it’s bad for them, and these reasons vary across individuals and across circumstances. One notable reason why people continue to use social
media even though it affects them negatively is that they’re simply unaware of its harmful influence. Furthermore, in some cases, people are
aware of the harmful influence that social media has on them, but they don’t care enough about these dangers to want to change their behaviour.
However, many people continue to use social media even though they know it’s bad for them and even though they want to stop, because they’re
psychologically predisposed to keep using it. For example, one study found that people keep using Facebook despite the fact that it makes them
feel bad, because they keep expecting it to make them feel better.

Sub questions

Question Number : 76 Question Id : 9277593490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. There are a number of potential dangers and issues associated with social media.

B. People continue using social media despite knowing its ill effects.



C. People use Facebook with the expectation that it will make them feel better.
Options :

1. % Only B is correct.

2. % A & B are correct

3. % B & C are correct.

4. ¥ All are correct.

Question Number : 77 Question Id : 9277593491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of 'psychologically predisposed ' from the above passage?
Options :

1. ¥ Emotional addiction to the used of social media.

2. % Mentally preoccupied with the contents of social media.

3. ¥ Emotionally or mentally unavailable to other people around them.

4. ¥ Mentally or emotionally inclined to the use of social media.

Question Number : 78 Question Id : 9277593492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not associated with health issues and potential dangers of using social media?
Options :

1. #® Depression

2. ¥ Sleeplessness

3. # Anxiety

4. ® Stress

Question Number : 79 Question Id : 9277593493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On the basis of your reading of the above passage, select the most appropriate heading for the same.
Options :



1. % Ban Facebook
2. ¥ Dangers of Social Media and How to Avoid Them
3. % Life threatening effects of social media

4. % Subconscious Mind

Question Number : 80 Question Id : 9277593494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. Understanding the dangers of social media is important so that one can help themselves and others around them.
B. People do not care enough about the dangers of social media so as to change their own behaviour.

C. Social media is always unhealthy and dangerous.
Options :

1. ¥ Only A is correct.

2. % A & B are correct

3. # B & C are correct.

4. % All are correct.
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Question Number : 81 Question Id : 9277593495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy & TR el 7 T 39 fad e &1 T oY ot fod 7Y Weg 1 T 1 Wea 1 |

RNIGEI
Options :

1. % 3f@&qur
2. ¢ JUTAH
3. % fRrpar
4. % fRrp1ad

Question Number : 81 Question Id : 9277593495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy & TR el § O 39 fadey &1 9 63 ot ol 7T Weg 61 T T s 1 |

Options :



1. % 3@auuy
2. ¢ IUIAY
3. % R

4. % Rrerd

Question Number : 82 Question Id : 9277593496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 7 IR fowedl 7 @ 39 fadey &1 9g 3 S SUTT Weg, BT Tg! fashed 3|
Options :

1. % ggrad

2. % YR

3. ¢ gy

4. % IRIH

Question Number : 82 Question Id : 9277593496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRea Uy & IR fadwedl § O 3 fadhed &1 98 H< ol SUI Xeg &1 e | (9 el 3|
Options :

1. ® ggrad

2. % HRY

3. ¥ gy

4. % RP

Question Number : 83 Question Id : 9277593497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafliad Uy & R fowedl & O 39 fddey &1 999 &< 1 14 7T i - fawde Xeq &1 Tal Afd o1 fawed 71 |
gat+ 3fa-




Options :

1. % dIg
2. % I
3. % TG
4. ¢ 3IQ

Question Number : 83 Question Id : 9277593497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaliad Uy & R fowedl & O 39 fddwed &1 99 &< 1 148 U i - fawde Weq &1 Tal Afd o1 fawed 71 |
gat+ 3fa-

Options :

1. % 3dlq
2. % ST
3. % gfe
4. ¥ 3G

Question Number : 84 Question Id : 9277593498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad oy & aR fowedl O T 39 fadwey &1 o+ &< S 3 7T TfE <eg &7 gt 9 - fawsg o1 fawea 71 |
ayit

Options :

1. ® Y+ 3ffll
2. % Y+ 3ol
3. ¥ Y+ Soll
4. % g + 3ffolf

Question Number : 84 Question Id : 9277593498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeiRad oy & AR fowedl O T 39 fadwey &1 o+ &< S e 7T TfY <eg o1 gt 1Y - fawsg o1 fawea 71 |
ayit

Options :

1. % e+ 3T
2. % H‘QHBTrﬁ
3. ¥ Y+ Soll
4. % qY + 3ol

Question Number : 85 Question Id : 9277593499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed vy & ,aR fowedl & 9 39 fdded &1 9a- & ol d1edixl o oI Ugad U Usd &l Aol [ddbed 8l |

SR & &1 1 g1y ST -
Options :

1. % iy

2. % A

3. % 318

4. ¥ 8T

Question Number : 85 Question Id : 9277593499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRed vy &, aR fomddl T 9 39 faded &1 ag+ & Sl d1eixl o oI Ugad U Usg &1 ol fddbed 71|

SR & ®1H o gy SIaT -
Options :

1. % g9y

2. % grade

3. % 3[ST




4, ¥ L&Y

Question Number : 86 Question Id : 9277593500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad Uy & aR fodwedl & I 39 fddwed &1 99 &3 ol fQU 1T sg - &1 9g! 31 ardl fadwed gl |

dg- dg

Options :

1. ¢ 3, dU=I
2. % JYal , gArdq
3. % 37T

4. % HYT AT

Question Number : 86 Question Id : 9277593500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed s o TR fadwetl O 9 39 faded &1 7o 1 S faU 70 Wsg -7 &1 Het o aretl fdved 9 |

dg- dg

Options :

1. ¢ 3, dU=T
2. % JYar , FArdq
3. % SFRNYT

4. % HYT AT

Question Number : 87 Question Id : 9277593501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad Uy o R fawedl O T 39 faded &1 o+ &L Sl Y WUst 1 gl f[dbed 71 |
Options :

1. % Afa®




2. % 3fad
4:¥3&H§Fﬂ$

Question Number : 87 Question Id : 9277593501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafaa uy & aR fowedl & T 39 fawed &1 999 &3 ol Y Uek &1 Ta! [dbed 81 |
Options :

1. % Hifcres

2. % 3rfed

3. ¢ HIAdHS

4. % 3D

Question Number : 88 Question Id : 9277593502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy § IR fowddl 7 @ 39 oy &1 9g &3 oY T 17U req &1 Tmeff 2reg 781 B |
feeert -

Options :
1. % gRgr™
2. ® f3areft
3. % Holldh
4, ¢ IQXWb

Question Number : 88 Question Id : 9277593502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad uy & TR el 7 T 39 fad ey &1 T o off T U Weg &1 FAmRi Weg 76T /|
facer -




Options :
1. * g™
2. ® f3areft
3. % Holldh
4, ¢ IQRXWb

Question Number : 89 Question Id : 9277593503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & 9R fowddl 7 9 39 fadwey &1 9a &3 o1 AT T8 a1e & HTd & Ve &1 el fabed g |
SEIERRISIRIRGE

Options :

1. % guf yd 1

2. ¢ 3(Ul GGHH BT
3. % Y 9a9H S
4. % YT Yid=q BT

Question Number : 89 Question Id : 9277593503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 7 IR ol 7 @ 39 fasey &1 9a 3 S T 17T a1e & &1d & Ve o1 el fabeu 7 |
AP MM |

Options :

1. ® guf Yd P1a

2. ¥ 3l A HIA
3. % YT 99 HTd
4. % U Ufd=q HTd

Question Number : 90 Question Id : 9277593504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafafed vy IR foddl 7 @ 39 faded &1 9g B3 oY AT 70 a1 & TR & e o1 el fdbeu 7 |
3T 3T ST Ihd &

Options :

1. * fquane as
2. % Hobd drad

3. ® gI[dddh

4. « AP dI

Question Number : 90 Question Id : 9277593504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & 9R fowedl 7 @ 39 fawed &1 999 &3 5t AT 7T 9190 & UHR & N &1 el fadhed g |
3§ 319 o Tehd §

Options :

1. * fawrare arae
2. % Hobd dTAD

3. # S[AIHdD

4. « 3{R[ITdIHd dI]

Question Number : 91 Question Id : 9277593505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR ol 7 @ 39 fasey &1 9a &3 o T U a1e & A &1 98! faswheu g
1 SR TR S HRU B T3eTerd Tel 78 o |

Options :
1.« IR IR
2. % gy arR

3. % HYad a1



4. % 3y I=P AT

Question Number : 91 Question Id : 9277593505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR ol 7 9 39 fasey &1 9a &3 off foU U a1e & A &1 98! fasdheu 3|
1 3RIRI B P BRI et faegrerd e 7S o |

Options :

1. ¢ WA AR

2. % oy ar

3. % ggad die

4. % fqy 9IS I

Question Number : 92 Question Id : 9277593506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad & ¥ Tg! drsd-dcqH i o1 U Siford|
Options :

1. ® hepl-Ht

2. % HoAI-Hia

3. ¥ Be-Bid

4. % gATI-SHEADT

Question Number : 92 Question Id : 9277593506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafeRad o I I8! dugd-acd g &1 Ugd difor)
Options :

1. % PHpdl-pyl

2. % PEA-HI&




3. ¢ He-Bid
4. % ZAAI-3HfImT

Question Number : 93 Question Id : 9277593507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffea oy o IR sl & 9 39 f9eed &1 99+ &< off e o g gad a1 &1 el [ddhed § |
Options :

1. % gt diepR e ot Af Sl IR 399 d gars &1 1Y 3Te! g |

2. % g UiehR YT B AT Sich - HE RIS 39H df <dls &1 7Y 381 8 ;

3. % U R T Dt A Sl -HERIS S99 a1 gdTs &1 7Y 3T g |

4. ¢ O diopR T Y AT Aell - HERIS, SR ) gaTs P 1Y 3ATIBI g |"

Question Number : 93 Question Id : 9277593507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed Uy & TR fawedl § O 3 fadhed &1 98- &< o et faRM g gad a1 &1 9g! fddheu g |
Options :

1. % gt dies e ot AF Sl - HeRS 399 df garg &1 1Y 3a1 g |

2. % gt e Bt AT et - HERIS 399 dl gaTs &1 1Y a1 | ;

3. % O Qi T B A el -HERTS 39 O &dTS B Y S B |

4.« UMt YT Y A Sl < HERIS, 388 ) gdTs B Y ST B

Question Number : 94 Question Id : 9277593508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiaa Uy & TR fawe # T 39 fawen &1 7 o3 off fU 7T YTk 1 98 faweu 7 |
31eT8 o &1 §oHa -

Options :

1. % Td & FHY g




2. ¥ $3 &l &I IE-Mba
3. % 919 9 oo S
4. % T I IATT & BT

Question Number : 94 Question Id : 9277593508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied v o TR fadwenl O 9 39 fawed &1 70 &1 S faU T8 geTar &1 el fdeed § |
31eT8 fad &1 gFHa -

Options :

1. % Hid & gHY g

2. ¢ T &1 &I AHI-NBbd
3. % §1d 9 fhR Sn

4. % Ui ! I & BT

Question Number : 95 Question Id : 9277593509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 7 ,9R foswedl 7 9 39 fdded &1 99 &L o1l 4T T8 dieifad &1 9g! 3 g7 |
TP B giff 7t T Hegg=

Options :

1. % YA-g1ad 3 8 99 Hf Rig g1 B

2. % T YHa aTel H7 el H79 &1 g T 8|
3. % URUTH $ 78! M, §Td 9l Bl dgl g1
4.« HY A 9% YD T WR ST

Question Number : 95 Question Id : 9277593509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy, 9R fowedl 7 9 39 fadwed &1 99 &3 1t 3T 7T deifad &1 ugt 3 g7 |




TP B G Al T Heqd-

Options :

1. % ¢.d1ad 4 S 99w Rig 21 B

2. % Tid Yo el HS el I ) g ST 8|
3. % URUMY $© 78! (b, 91d 981 &1 gl g1
4. ¥ TH I GG B Ted TR &l

Sub-Section Number : 2
Sub-Section Id : 927759143
Question Shuffling Allowed : Yes

Question Id : 9277593510 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

) fau 7TU e Y earYdes Ug SR U 7Y Ul T gataH SR I |

3ffe SR R Bt Ty T} I | H IR ave IRd-AfoTd T & gad I IR 8F 1 Bl B Gohdl 5 | SRR & BT gl
I SR BT BT <l Udhe Rl 8l &, IR =l 3ifed g Hfad & fomr srma g .

=1 g Bt I8 e 82 Pad A oG &) 3T ST | 3R BIS B 8T b 3R & He I 5N P o unef1 i U T SR I
19 S10d BT 3R g&d AR T 34! Sidl-SIHTa! SUfRITd &1 UH I9d §T T I 81 &gl SiTed fob GIrd agTgRl a1 ifgan &t | 3 It
i & &fior 8) S ¥ 3(UT g9 H T BR U 3ATeH! & =0 H g1 1RA1 aredT| fadt R &1 el 4l TR Sfia &1 3 dR ¢, | ST
TN ¥ | AfcbT e ST At H S1f<TH Y1 dh 3T Peied UTer HRd §U Bl FRAT UH=< BTl .

TS TRIC B B! aHA1 16! o | Tl 3R YH B &l BT STdH Haiod UTa HRd g4 Jol XETad Hd ofg df § SHHT U HHT SIS |
YATel H TR U107 o & fofl 91 IR 3Hah IR SThHUI fbT U §; TR 3Tl deb HRTAH = A &M 1 g 3R UT01 & BT U bR ared 370
fhT TR UBAIT & | AfcbT AR Bl MTeH! Tg HIFHR G IR TMieit Il fob a8 b g 1 WIHT B 81 &, I 98 Teh e 71} bt gl Tal
BT, et I TN BT BT S I ¥ fewars feam am

Sub questions

Question Number : 96 Question Id : 9277593511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TE & AR T WU H ATt =1 fheiop fomT dva 181 § 2

Options :




1. ¢ I Ffadr & famn
2. % HIIRAT b o1

3. % QA & foHT
4. % RS gu fom

Question Number : 97 Question Id : 9277593512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g bl T Gl Bl THA T8 © 2
Options :

1. * Sfiq 7 sifgqrardl g &

2. % ST HildBRI

3. % OfiH i

4. ¢ TEIG

Question Number : 98 Question Id : 9277593513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JufRUf &1 faaH Weg AT 7 |
Options :

1. % RGO

2. ¢ URYTA

3. % S

4. % 31

Question Number : 99 Question Id : 9277593514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YAhTd B e ob 1Y o1 g3 4T 2
Options :

1. # Jgd TR 3T YT

2. % 3G g3 T




3. ¢ b B 3 TR 3MHHU g3 U
4. % TR GRTREDR J FHATH fobam T T |

Question Number : 100 Question Id : 9277593515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tase & forg Ifua < iford |
Options :

1. ¢ fEHrard) oaeh

2. % oG T T TRUT BT ST

3. % ffferan ofR srfgn

4. % SEIGR o1 A 4 DI AU THaT 3 |

Question Id : 9277593510 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

e fau U TR P eagd e U SR U@ MY U T qarad SR I |

3T 3R HrRar B 1 5] Fadt | § IR aRe IRA-Uieid I8 & g6d ¥ HRR 814 1 Hed-1 B Jbdl & | BIRAR G- SRR Ta!

N SR BT BT Y Uehe Il &1 7, TR et Sifedt Ry e & fomm srama 31

amgsqﬁ ﬁ%%%ﬁéﬁﬁﬁﬁﬁ?ﬁé’rsﬁaﬂwﬂl&mﬁéﬂﬁmﬁsﬁ?ﬁaﬁ@rm%ﬁmmﬁm?@mméww
TU 3R gad iR T D! Siidl-SIRTd! SURTT &1 HIH TGd §UHE Al 81 el ST fos Gord d8TgRi o1 sifgar df | 4kt 9t

Qmés&ﬁwﬁaﬁﬁ&mwﬁwgﬁ@m%wﬁﬁmm|Wmﬁiﬂffﬁuﬁﬁifﬁﬂaﬁm%méﬁm

NI BT | T T SaTGT df 8 SHfH 4T d 30T Dot UTei X §U o1 BRAT UG el

S TEIE 811 & aHa el g | A 3R 4 BT I8 BT IwaH Hacd UTe HRd gU H XeTed i e al H ST U JHT SR |

DT T TR W07 O & o J TR 3Hd IR SATHHU fhT T §; TReg SIS ddh HITGH - A I&T Pi g 3R 07 A BT UTd B aTd 30

fhT IR UBame § | At 3R BIs 3ATH) I8 AHHR Y3 UR Ml It fb a8 T gF &1 W1 R 61 8, I 98 Ud I TMTeh b gt -1gt

BT, Sfedp I TTER BT B o I g famrs feam |

Sub questions

Question Number : 96 Question Id : 9277593511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3TE P AR T ¥U § Sfrarc) a1 foush fomr gua 78l § 2
Options :

1. ¢ g Fdgar & fomn

2. % BRIl o o1

3. % 3Ol & foHT

4. % fARf9a gu fom

Question Number : 97 Question Id : 9277593512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g bl T Gl Bl THA T8 & 2
Options :

1. % Siig H Sfgrard] g ol

2. % ST BildBRI

3. % S @I

4. ¥ TEIQ

Question Number : 98 Question Id : 9277593513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JufRUfA &1 faaH Weg AT 7 |
Options :

1. % TRgIoR

2. ¢ EURYTT

3. % Sl

4. % HHIG

Question Number : 99 Question Id : 9277593514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YdhTd B b o 1Y o1 g1 4T 2
Options :




1. % qgd AR g3 U

2. % R g

3. ¥ FTdb B UR 3f-ch IR 3{ThHUT §3{T YT

4. % IHR gRIGRSHR J FHTH fovdm 717 o7 |

Question Number : 100 Question Id : 9277593515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G & fory Iferd 2iep diford |
Options :

1. ¢ 3ffgHrard] daed

2. % TGSD BT G TR b1 ST

3. % fmfferan ok sifgan

4. % TEIGR g1 AT o DY U1 ThaT | |

Disciplinel

Group Number : 6

Group Id : 927759104

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 927759120

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759144
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277593516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the average rate of change of function Y = [25 - x?] at x = 2?
Options :

1. % 21

2.% 4

3.% 2

4. ¥ 4

Question Number : 101 Question Id : 9277593516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x =2 RBAT Y = [25 - x2] P URTdT BI 3{Gd & T g2
Options :

1. ® 21

2. % 4

3.%2

4. ¢ -4

Question Number : 102 Question Id : 9277593517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the slope of the tangent to the curve y = 4x+(x* + 1) at (0,0)?
Options :

1.*0

2.% 2

3.4

4. % 8

Question Number : 102 Question Id : 9277593517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(0,0) R TP y = dx+(x2 + 1) T WRRAT B YGUIdT &7 82
Options :

1.#*0

2.% 2

3.¥ 4

4. % 8

Question Number : 103 Question Id : 9277593518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the differential function of log(x* + 2)?
Options :

1. ¥ 2x+(x>+2) dx

2. % 2x+(x>-2)dx

3. % 2x+(x2+2)dx

4, % 2x+(x2-2)dx

Question Number : 103 Question Id : 9277593518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AN (x2 + 2) BT 3fddhd B T B2



Options :

1. % 2x+(x>+ 2) dx
2. % 2x+(x*-2) dx
3. % 2x+(x*+2) dx
4. % 2x+(x*-2)dx

Question Number : 104 Question Id : 9277593519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of the limit, limx—0 25+ x?
Options :

1. ¥

2.%0

3. % 12

4. % 32

Question Number : 104 Question Id : 9277593519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THHT BT HE 1 ﬁ, limx—0 25+ x?
Options :

1. ¥ o

2.%0

3. % 12

4, ® 32

Question Number : 105 Question Id : 9277593520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following characteristic is included in the study of general procedure for tracing the algebraic curve?

1)Symmetry



2) Orthogonality
3) Tangents to the Curve at the origin

Options :

1. # 1&2 are correct
2. ¥ 1&3 are correct
3. % only 2

4. % only 1

Question Number : 105 Question Id : 9277593520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgffed & ¥ o I fawd Serfordia g &1 udr & & forw I ufssar & siegg= & 2nfire 82

1) ST

2) AID Ui (3NUTTRreT)
3) A R I B! WRRETY
Options :

1. % 1 3R 2TEI 8

2. 1 3R 3L 8

3. % BHdd 2

4. % Had 1

Question Number : 106 Question Id : 9277593521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the area enclosed by parabolas x*> =y and y* = x.
Options :

1. # 1+6

2. % 1+9

3.9 13

4, % 1+12



Question Number : 106 Question Id : 9277593521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RATT x> = y AR y* = x GRT THIGI B 1 B |
Options :

1. % 1+6

2. % 1-9

3.¢ 13

4. % 1+12

Question Number : 107 Question Id : 9277593522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the volume of sphere by triple integration?
Options :

1. #® (8a’m)+3

2. % (4a’n)=3

3. ® (a’n)=3

4. % (2a’n)3

Question Number : 107 Question Id : 9277593522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feUd SERIRM gRT A & ST DI TTUHT B2
Options :

1. ® (8a’m)+3

2. ¥ (4a°n)+3

3. % (a’m)=3

4. % (2a’m)=3

Question Number : 108 Question Id : 9277593523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Divergence and Curl of a vector field are

Options :

1. # Scalar & Scalar
2. ¥ Scalar & Vector
3. ¥ Vector & Vector
4. % Vector & Scalar

Question Number : 108 Question Id : 9277593523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
tH IR AT FIfaTeT iR edd ®
Options :

1. % 3ffex SR sffew

2. ¢ ffex SR wie™

3. % e SR gfew

4. % QiR 3R iy

Question Number : 109 Question Id : 9277593524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the slope of the tangent line for the curve xy? -yx® = 2 at the point (1,-1).
Options :

1. %2

2.%0

3.9 -]

4. % 2

Question Number : 109 Question Id : 9277593524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fag (1,-1) R TP xy? -yx® = 2 & ToIQ TW=RET &1 YU I1d H1 |



Options :
1. %2
2.%0
3.9 -1
4. % -2

Question Number : 110 Question Id : 9277593525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zero of x* - 100 will be

Options :

1.*0

2.¥10

3. % -100

4. % 100

Question Number : 110 Question Id : 9277593525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X2 - 100 &1 D I 2

Options :

1.* 0

2.¥10

3. % -100

4. % 100

Question Number : 111 Question Id : 9277593526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This polynomial x*+4x+8 has
Options :

1. ¥ one negative and two imaginary zeros



2. % one positive and two imaginary zeros
3. % three real zeros

4. % no zeroes

Question Number : 111 Question Id : 9277593526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHTGUC x> +4x+8 H g

Options :

1. ¥ T% BUTHS 3R &l HIed-d LA
2. % U YATAS 3R & B LA
3. % Qi dRdidd

4. % Plg YA el

Question Number : 112 Question Id : 9277593527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the number of equivalence classes that can be defined by the set {1,2,3}.
Options :

1. # 125

2.95

3. % 16

4. % 72

Question Number : 112 Question Id : 9277593527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I {1,2,3} GRT ARG fT ST T+ aTat godidl ol o) e J1d B |
Options :

1. #® 125

2.¥5




3. % 16
4. % 72

Question Number : 113 Question Id : 9277593528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Discover the number of possible relations in an anti-symmetric relation with 19 elements.
Options :

1. % 1.9 x3%

2.92.02 x 10¥

3. % 19.34 x7*

4, % 13.5%x 932

Question Number : 113 Question Id : 9277593528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 Tferde & Iry wHiHd-e (A-Rmfew) dau & Svifaa deet ot e I1d L
Options :

1. % 1.9 x3%

2.92.02 x 10¥

3. % 19.34 x7*

4, % 13.5%x 932

Question Number : 114 Question Id : 9277593529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A quadratic field is called a simple quadratic field if :

Options :

1. ¥ every algebraic integer can be expressed as a product of prime element uniquely up to change of order and multiplication by units.
2. % the representation is unique apart from the order of the primes, the presence of unities and ambiguities between associated primes.
3. # it also follows that mi is associate of some yj and conversely.

4. ® divisor, unity, associate and prime in Q(w) are same as those in k(i).



Question Number : 114 Question Id : 9277593529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fgord & o YR fuTd 85 HeI a8 afe :

Options :

1. ¢ YIS Sioid YUl 1 31HTS Tfere & TUHThd o U & e [l off Tabdl 5, [ &0 3 % gRad 3R 361l gRT UM
s

2. % UTST & HH & ATaT U@ Mg &, Taferd iyt & sitg gt 3R Traigget &1 Jufyfd |
3. % g Yl UTeH a1 § % #i T yj & THIRNE § 3R 39 faudid|
4. % Q(w) T ToTe, gfIct, TARITE 3R 3{TST a8t & Sl k(i) A ]

Question Number : 115 Question Id : 9277593530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A is a 9 x 10 matrix of rank 3. Which of the following is equal to the dimension of the null space of A?
Options :

1. %9

2. %10

3. %3

4.v 7

Question Number : 115 Question Id : 9277593530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A, XH 3 B9 x 10 3R 7| FEffed & 9 & a1 A & Raa 9w & o & ReR 82
Options :

1. %9

2. %10

3.%3

4.¥ 7



Question Number : 116 Question Id : 9277593531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compute the inverse of the matrix A =
423

222

101]

Options :
L% 1 -1 -1
01+2 -1
1 1 2

3.1 -1 —1
012 -1
-1 1 2
4. % 1 -1 -1
01+-2-1
-11 3

Question Number : 116 Question Id : 9277593531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TYGA & HGhH Dl TUHT B =
423
222
10 1]

Options :
1.% 1-1-1
01+2-1
11 2
2.%1 -1 1
012 -1
-1 1 2




3.4 1-1-1
01+2-1
-11 2
4. % 1-1 -1
01-2-1
-11 3

Question Number : 117 Question Id : 9277593532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out which of the following statements is not true if A is a Hermitian matrix.
Options :

1. #® The diagonal entries of A are all real.

2. ® There exists a unitary U such that UxXAU is a diagonal matrix.

3. % IfA>=1,then A=1

4. ¥ If A>=1,then A=1.

Question Number : 117 Question Id : 9277593532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T1d B & FEfeied o @ o1 1 Hy= I 781 © 3¢ A U giffer e 31
Options :

1. % A P! fapuf ufafdal auft arafas B

2. % U% Ufthds U ANIG & O b UxAU fawmf segg B

3.8 G A =T AA=T

4.9 TG A =1, dATA=1

Question Number : 118 Question Id : 9277593533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A be a n X n real matrix. Then, which of the following statements is satisfied conditions for the matrix?
Options :



1. # If the eigenvalues of A are Al, . . ., An, then A is similar to a diagonal matrix with A1, . .., An along
the diagonal

2. % Ifrank (A) =r, then A has r non-zero eigenvalues.
3. ¥ If A* k =0 for some k > 0, then trace(A) = 0.

4. % If A has a repeated eigenvalue, then A is not diagonalizable

Question Number : 118 Question Id : 9277593533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& A U& n x n IRATAD M B | o, Fafafad & 9 & 1 HU= 3H1egg & e Iy 2 82

Options :

1. % i A & YOG AF AL, ..., an B, AT A TaH0l 3eg & 99 ¢ forad fawof F AL, ., an g
2. % AP (A) =18, A A H r IR HYATEIOE AF g

3./ URTEL>0F WA k=08, AT (A)=0

4. % & A BT o1l iframeiOres 71 &, o A fawof 76 &

Question Number : 119 Question Id : 9277593534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inner product spaces over the field of complex numbers are sometimes referred to as:
Options :

1. # vector space

2. ¥ unitary space

3. # real vector space

4. ® abstract vector space

Question Number : 119 Question Id : 9277593534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ity st & & H Sfialke uHwd Iy & HHi-d Her o &:
Options :

1. ® giexr iy



2. ¢ U Fafy (gfred) W)
3. % gRAfd® e IHY

4. % Ustede fer Ay

Question Number : 120 Question Id : 9277593535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the value of x> +y* + 23, if x + y + z=0?
Options :

1. ¥ 3xyz

2. % 2xyz

3. % xyz

4. ® xyz(xy + yz + zx)

Question Number : 120 Question Id : 9277593535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Q'%X+y+z=0@?ﬁx3+y3+z3$[qﬁwa1'ﬂ?
Options :

1. ¥ 3xyz

2. % 2xyz

3. ® xyz

4. 8 xyz(xy +yz + zx)

Discipline2
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Group Id : 927759105
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 927759121

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 927759145

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277593536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the common ratio of the GP if the first term of a GP is 1 and the sum of the third term and fifth term is 90
Options :

1. ® 4

2.¥3

3.9

4, %2

Question Number : 121 Question Id : 9277593536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



GP &1 SHTME 3UTd 1 X Il GP BT UG UG | § AR IR UG 3R Uiad Ug H1aT90 §
Options :

1. % 4

2.v3

3.%9

4.% 2

Question Number : 122 Question Id : 9277593537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the sum of the next three numbers in the sequence?
1,3,6,10,15,21,...

Options :

1. % 108

2. % 74

3. % 76

4.4 109

Question Number : 122 Question Id : 9277593537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S SHH T ST i TRSATS BT AT T 82
1,3,6,10,15,21,...

Options :

1. % 108

2. % 74

3. % 76

4. %109

Question Number : 123 Question Id : 9277593538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Let us say a, b, c are in AP then Which of the following is not true?
Options :

1. % 2b=a+c

2.%b-a=c-b

3.%b+b=a+tc

4. ¥ b+a=ctb

Question Number : 123 Question Id : 9277593538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT [F a, b, ¢, AP T & dl HAfRad & @ & 91 9 781 52
Options :

1. % 2b=a+tc

2.%¥b-a=c-b

3.%b+b=a+c

4. ¥ b+a=ctb

Question Number : 124 Question Id : 9277593539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If n is any positive integer then 1+3+5+...+(2n-1) =?
Options :

l. % n

2. % n-1

3. % 2n-1

4, ¥ n?

Question Number : 124 Question Id : 9277593539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS n PIg YATHD YU g Al 1+3+5+...+(2n-1) = ?

Options :



1. * n
2. % n-1
3. % 2n-1
4, ¥ n2

Question Number : 125 Question Id : 9277593540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate lim n tends to infinity (7n+3)+(5n+Vn).
Options :

1. ¥ 7+5

2. % 13

3. % 1+5

4. % 73

Question Number : 125 Question Id : 9277593540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

lim n ] TUHT B S 3d T St % (7n+3)+(5n+Vn) |
Options :

1. ¥ 7+5

2. % 13

3. % 15

4. %= 73

Question Number : 126 Question Id : 9277593541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate lim n tends to infinity (1+(1+n))"
Options :

1. %0

2. % 1



3. % n
4.+ ¢

Question Number : 126 Question Id : 9277593541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

lim n &1 U &3 S 3d T STl § (1+(1+n))e
Options :

1. %0

2. % 1

3.%n

4. ¥ ¢

Question Number : 127 Question Id : 9277593542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the order and degree of the differential equation :
3x(dPy+dx?)+2x%(dy+dx)*-5xy=0

Options :

1. % Third order, first degree

2. # First order, fourth degree

3. ¥ First order, third degree

4. % Third order, Third degree

Question Number : 127 Question Id : 9277593542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3D THIDHRUT BT BT (3fs3) 3R f&3f e ghm -
3x(dPy+dx?)+2x*(dy+dx)*-5xy=0
Options :

1. ¢ TS el (3MTeR), Ugel Pife
2. % UgH el (3iTeR), Trft pife



3. % Ugalt defl (3fex), dRrl foit
4, % TERT e (3HT8Y), st fewh

Question Number : 128 Question Id : 9277593543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If dy = 2x°dx ; then what is the equation of the y in terms of x if curves passes through (1,2)
Options :

1. % x5-y+2=0

2. # x5+y-2=0

3.9 x65-3y+5 =0

4. ¥ x5+3y-5=0

Question Number : 128 Question Id : 9277593543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g dy = 2x%dx; < x B GaY H y BT GHIHRU 1 3 fS I (1,2) W SR ToRdl §
Options :

1. % x5-y+2=0

2. % x5+y-2=0

3. ¥ x6-3y+5 =0

4, % x43y-5=0

Question Number : 129 Question Id : 9277593544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not the characteristics of Transcritical bifurcation:
Options :

1. ¥ Solid line denotes stable steady-state

2. #* Dashed line denotes unstable
steady-state

3. % Non-linear implicit scalar equation



4. # Two steady-state branches collide.

Question Number : 129 Question Id : 9277593544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIfh e STSthdeH &1 BIF I faRvar 78 &:
Options :

1. ¥ 3 T R RR-fufq &1 guifct §

2. % SIS W1 SRR FRR- ST BT g21fcll 8

3. % RIS 3RUY e el

4, % ) FRR-3aRYT ARATY Hafed gl |

Question Number : 130 Question Id : 9277593545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The half-life of radium is 1600 years, i.e., it takes 1600 years for half of any quantity to decay. If a sample initially contains 50 g, how long will it
be until it contains 45 g?

Options :

1. # 212.3 years
2. ¥ 243.2 years
3. % 282.4 years
4. ¥ 344 3 years

Question Number : 130 Question Id : 9277593545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfgTam &1 aner Sfia 1600 I9 §, Srfd foreit ot AT 61 3MeT &/ 811 H 1600 98 @A & | IS Th A | = H 50 T &, ) I8 foha1 97g
AT ST b fob ST 45 A A 812

Options :

1. % 212339

2. 24324

3. % 2824 9Y




4. % 3443 7Y

Question Number : 131 Question Id : 9277593546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the order of this equation? (d?y+dx?) - (dy+dx)* +2x =0
Options :

1. %1

2.¥ 2

3.%3

4. %0

Question Number : 131 Question Id : 9277593546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T GHIHRUT BT HafT (3ATS) T 82 (d2y+dx?) - (dy+dx)* + 2x = 0
Options :

1. %1

2.9 2

3.% 3

4, % 0

Question Number : 132 Question Id : 9277593547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is FEM?

Options :

1. ¥ Finite element method

2. # Finite element mesh

3. # Fixed element mesh

4. % Forward element method



Question Number : 132 Question Id : 9277593547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEM &1 52

Options :

1. ¢ BISAISC TferHe AYS

2. % BIEAISC UeHe AL

3. % flhoRg TferHe 7Y

4. % BRJs UlHc AYS

Question Number : 133 Question Id : 9277593548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference equation Pn+1 = aPn + b. Then Calculate P2 if f PO=2,a=3, and b=—1.
Options :

1. %5

2.¥ 14

3. % .7

4. % 1

Question Number : 133 Question Id : 9277593548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R FHIBRUT Pn+1 = aPn + b1 T P2 BITOAI B ARG PO =2,a=3, AR b=-17|
Options :

1. %5

2.9 14

3. % .7

4. % 1



Question Number : 134 Question Id : 9277593549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Derivative of 0+0x In(2x+3) is equals to
Options :

1. ¥ 2+(2x+3)

2. % 2+(2-3x)

3. % 2+(2+3x)

4. % -1+(2x+3)

Question Number : 134 Question Id : 9277593549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0+0x In(2x+3) BT JIH Y & RER 8
Options :

1. ¥ 2+(2x+3)

2. % 2+(2-3x)

3. % -2+(2+3x)

4. % -1+(2x+3)

Question Number : 135 Question Id : 9277593550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If [xl is the greatest integer in X, then what is: lim x—-1 [x+1] ?
Options :

1. *= -1

2.%0

3.% 1

4. # limit does not exist

Question Number : 135 Question Id : 9277593550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i [x1, XﬁWWW% al lim x—-1 [x+1]:71|'~’3|T% ?
Options :

1. % -1

2.%0

3.% 1

4.« FHAT ARG T8 ®

Question Number : 136 Question Id : 9277593551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solve : lim x—0 sin (1+x)

Options :

1.% 0

2. %]

3.% -1

4. ¥ does not exist

Question Number : 136 Question Id : 9277593551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A DN : lim x—0 sin (1+x)

Options :

1. %0

2. % 1

3. % -]

4.« AN[G Bl §

Question Number : 137 Question Id : 9277593552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If Y is in terms of variable x as Y= f(Xx) then y is known as



Options :

1. ¥ explicit function
2. # implicit function
3. # linear function

4. # identity function

Question Number : 137 Question Id : 9277593552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Y, Wx P JGYH Y= fix) P TUH B ol y B 99 U H 91 ST 8
Options :

1. ¥ THIQIRYE haR

2. % 3Y FHIBUT

3. % Mg W

4. % dHHD Thddd

Question Number : 138 Question Id : 9277593553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which option we can evaluate the limit by using L’Hopital’s rule?
Options :

l. # limx—7 coSX X — T

2. ¥ limx—o0 xe—x

3. % limx—1 Inx x — 1

4., % limx—0 tanx x

Question Number : 138 Question Id : 9277593553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for fasmey # uq g1fed & fFoH &1 ST oRer g UIHT &1 Jedidh HR Adhd 82

Options :




1. ® limx—Tcosx X — T
2. % limx—o xe—x
3. % limx—1Inxx—1

4. # limx—0 tanx x

Question Number : 139 Question Id : 9277593554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what value or values of x this function is discontinuous : f(x) =x+4ifx <-1 & x*if -1 <x<1;2—-xifx>17?
Options :

1.* 0

2. % 2

3. % 1

4. ¥ -1

Question Number : 139 Question Id : 9277593554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
xémmmqﬁwwwm%:f(x)=x+4tl'%x§—l&xzqﬁ—l<x<1;2-xqﬁx21?
Options :

1.* 0

2.% 2

3. % 1

4.9 -1

Question Number : 140 Question Id : 9277593555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the angle which the tangent to the curve at P makes with the positive direction of x axis?The value of ’(x) is -1 at the point P on a
continuous curve y = f(x).

Options :

1. ® =2



2. % n+4
3. ¥ 3n+4
4. % 3n2

Question Number : 140 Question Id : 9277593555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I HIF T HIVI g Off P TR b T TR x 31&f D1 YT =M &b 1§ 82 £(x) BT HM Tad db y = f(x) Wdg PR -1

Options :

1. ® 2

2. % n+4

3.9 3n+4

4. % 3n+2
Discipline3
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Question Number : 141 Question Id : 9277593556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find out the differential function of V(x? + 2)?
Options :

1. ® x\(x*+2) dx

2. ¥ x=\(x2 +2) dx

3. % x+\(x2-2) dx

4. % x\(x2-2) dx

Question Number : 141 Question Id : 9277593556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
V(x2 + 2) BT 3ddhd Ha JTd Be?
Options :

1. ® x\(x*+2) dx

2. ¥ x+\(x2+2) dx

3. % x(x2-2) dx

4. % x\(x2-2) dx

Question Number : 142 Question Id : 9277593557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Determine the series of sin 6 using Taylor's theorem .



Options :

1. % 1-(022!) +(0%4!)-.....

2.9 0-( 0°+3)) +( 05+5))-.....
3. % 0+(0°+3!) +( 0°=5!)-.....
4, F 1+ 0221) +( 0%4))-.....

Question Number : 142 Question Id : 9277593557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U 6T YA Hd U sin 0 D1 JUN J1d D1 |
Options :

1. % 1-(62+2!) +(0%+4!)-.....

2. ¥ 0-(0°3)) H( 05+5))-......

3. % 0+H(0°+3!) +( 65+5))-.....

4. % 1+(02:21) +( 0*+4))-.....

Question Number : 143 Question Id : 9277593558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the expansion of y = Sin™! x?
Options :

1. ¥ x+(x3+6)+(3+40)x°*+(5+112)x7+.....
2. % x—(x3+6)+(3+40)x*—(5+112)x7+.....
3. #® (x3+6)—(3+40)x>+(5+112)x7+.....

4, F x+(x2+6)+(3+40)x>+(5+112)x*+. ...

Question Number : 143 Question Id : 9277593558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

y = sin”! x BT SFORMA FT g2

Options :



1. ¥ XH(X*+6)H(3+40)x5H(5+ 112)x7+.....
2. # x—(x*+6)+(3+40)x>~(5+ 112)x7+.....
3. % (x3+6)-(3+40)x>+(5+112)x"+.....

4, % XH(xP+6)H3+40)x>H(5+112)x3 ...

Question Number : 144 Question Id : 9277593559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find It(x,y)—(0,0)(sinh(x)xsinh(y))+(xy)
Options :

1. %0

2. % o

3.¢ 1

4. % 990

Question Number : 144 Question Id : 9277593559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A B 1t(x,y)—(0,0)(sinh(x) xsinh(y))(xy)
Options :

1. %0

2. % o

3.1

4. % 990

Question Number : 145 Question Id : 9277593560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A vector field with a vanishing curl is knownas
Options :

1. # Rotational

2. % Irrotational



3. #* Solenoidal
4. % Cycloidal

Question Number : 145 Question Id : 9277593560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRMFdF Y IRT TR FFUA IS S
Options :

1. % A

2. ¢ TRICTAA

3. % GioHigad

4. % gehol (T3S S)

Question Number : 146 Question Id : 9277593561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the maximum value from the extreme values of this function :
u =x%y?- 5x*-8xy-5y?

Options :

1. ¥ (0,0)

2. % (1,-1)

3. % (-1,1)

4. % (3,3)

Question Number : 146 Question Id : 9277593561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 e & TRH HHI I S A 1d P
u =x?y*- 5x2-8xy-5y?

Options :

1. ¥ (0,0)

2. % (1,-1)



3. % (-1,1)
4. % (33)

Question Number : 147 Question Id : 9277593562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the area inside function (2x* + 5x* — 4)+x? from x = 1 to a.
Options :

1. # a>+-2 + 5a —4In(a)

2.¥ a2+ 5a+4+a—10

3. % a2 +4In(a) — 112

4. % 222 +5a— 112

Question Number : 147 Question Id : 9277593562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT (23 + 5x2 - 4)+x2 P e x = | Y a TP BT ETHT T |
Options :

1. # a>+2 + 5a—4In(a)

2.¥ a2+ 5a+4+a—10

3. % a>+2 +4In(a) — 112

4, % a2 +5a—11+2

Question Number : 148 Question Id : 9277593563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the volume V under the plane z=8x+6y over the rectangle R=[0,1]x[0,2].
Options :

1. ¥ 20 units

2. % 10 units

3. % 30 units

4. % 40 units



Question Number : 148 Question Id : 9277593563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MId R=[0,1]x[0,2] P HUR TAIA z=8x+6y P AId T V JTd B |
Options :

1. ¢ 20 SHITI

2. % 10 31T

3. % 30 SHIAI

4. ® 40 31T

Question Number : 149 Question Id : 9277593564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Green’s value for the functions F = y? and G = x? for the region x = 1 and y = 2 from origin.
Options :

1. % 1

2.9 2

3.% 2

4. % -]

Question Number : 149 Question Id : 9277593564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ax=1Ry=2F U@ I BT F =y AR G=x F W ITHFT A= T 8|
Options :

1. %1

2.9 2

3.%2

4, % -1



Question Number : 150 Question Id : 9277593565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the value of the integral JC (xydy -y?dx) where C is the square, cut from the first quadrant by the lines x = 1 and y = 1, will be ?(Using
green's theorem)

Options :
1. % 12
2.9 332
3. % 52
4, % 72

Question Number : 150 Question Id : 9277593565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬂ'ﬁl'@_c’l;f%xydy _y?dx) & T DI TTUET H<, T8T € ¥ &, o ugd aqufr S x@mefix = 1 3Ry = 1 gRIPIer T 82 G & J9g &1

Options :
1. % 12
2.9 32
3. % 52
4, % 72

Question Number : 151 Question Id : 9277593566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Stokes theorem is used to convert the  integrals to  integrals
Options :

1. # line to area

2. ¥ line to surface

3. % surface to line

4. % yolume to area



Question Number : 151 Question Id : 9277593566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R UG &1 ST GHIGA B UG a § deaq & g fear sar g
Options :

1. % 3@ Y &F%hd db

2. ¢ 391 Y Tag db

3. % gdg Y@ db

4. % 3G I &ABd AP

Question Number : 152 Question Id : 9277593567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the divergence of the vector field f— =6x2%i+3xy?j+xyz’k at the point(2,3,4).
Options :

1. ¥ 348

2. % 124

3. %100

4. % 106

Question Number : 152 Question Id : 9277593567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fdg (2,3,4) TR IR &F £ =6x2i+3xy*j+xyz’k BT fa=ra R
Options :

1. ¥ 348

2. % 124

3. %100

4. % 106

Question Number : 153 Question Id : 9277593568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which conditions are necessary to explain that the upper and lower integrals of a bounded function exist?
Options :

1. ¥ a, b eR, a<b, and f:[a,b]—R be bounded

2. % abecR, a>b, and f:[a,b] >R

3. % a,beR, a<b, and f:[a,b]| >R

4. % a, bR, a<b, and f:[a,b] >Z be bounded

Question Number : 153 Question Id : 9277593568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T T I I & oY 31awaes § [ T uRes B & SRt iR Fae gHIdm e HiNg 82
Options :

1. a,b e R, a<b, 3R f:[a,b] >R TRTG &

2. % abeR, a>b, 3R £[a,b] >R

3. % 3 beR, a<h, 3R £[a,b] >R

4. % 3 beR, a<b, 3R f:[a,b]—>Z qﬁ@@%ﬁ

Question Number : 154 Question Id : 9277593569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A funtion fon [0, 1] by

f(x) = (

1, if x = 1+n for some n € N,

0, otherwise)

find [ f with limits 0 to 1.

Options :
1.¥0
2. % 1
3. % -]
4. % n



Question Number : 154 Question Id : 9277593569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[0, 171U Uh ol £ gIRT

f(x)=(
l,zlﬁ'X:HanEN%ﬁfQ,

0, 3T-UY0)

09 1 DT I & 1Y | £ J1d DRI
Options :

1.¥0

2.%1

3. % -1

4., % n

Question Number : 155 Question Id : 9277593570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A function g : [0, t+2] — R by

g(x)=(

cos?x, ifx € Q,

0, otherwise.)

Find the upper Riemann integrals of g over [0, t+2].

Options :
1. % 72
2.% 1

3. % 713
4, & 7+4

Question Number : 155 Question Id : 9277593570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U Bl g : [0, n+2] — R gIRI



g(x) =(

cos? X, x Q,

0, 3TIYTI)

[0, 1+2] B HIR g B HU A THIG AT J1d B
Options :

1. ® =2

2. % 1

3. % 13

4. ¥ 14

Question Number : 156 Question Id : 9277593571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Integration of (Sin(x) + Cos(x))e* is
Options :

1. % exCos(x)

2. % ex Sin(x)

3. % ex Tan(x)

4. % ex(Sin(x)+Cos(x))

Question Number : 156 Question Id : 9277593571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(Sin(x) + Cos(x))ex BT JHATHET g
Options :

1. # exCos(x)

2. ¥ e Sin(x)

3. % ¢x Tan(x)

4. % ex(Sin(x)+Cos(x))

Question Number : 157 Question Id : 9277593572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the value of [ cot’(x) cosec* (x) dx
Options :

1. # —[cot*(x)+4+cosect(x)+6]

2. % —[cosec*(x)+4+cosect(x)+6]

3. % —[cot*(x)+4+cot®(x)+6]

4. % —[cosect(x)+4+cot®(x)+6]

Question Number : 157 Question Id : 9277593572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
| cot}(x) cosec* (x) dx I HIH ATd P
Options :

1. # —[cot*(x)+4+cosec’(x)+6]

2. ¥ —[cosec*(x)+4+cosect(x)+6]

3. ¥ —[cot*(x)+4+coté(x)+6]

4. ® _[cosect(x)+4+cot®(x)+6]

Question Number : 158 Question Id : 9277593573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these functions is not uniformly continuous on (0, 1)?
Options :

1. % x2

2. ¥ 1+x2

3. % sin(x)

4. #® sin(x)+x

Question Number : 158 Question Id : 9277593573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 Y B B (0, 1) R Jdd U J FRaR 78T 82




Options :
1. # x?
2.9 [+x2
3. % sin(x)

4. # gin(x)+x

Question Number : 159 Question Id : 9277593574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let f be the uniform limit of a sequence of continuous functions
{fn}. Then fis

Options :

1. ¥ Continuous
2. # Discontinuous
3. # Limited

4. * Infinite

Question Number : 159 Question Id : 9277593574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF O % £ 9dd Ba {fn} & 3 &I GHH GHIE 1 AT £8
Options :

1. ¢ gdd

2. % 3dd

3. % Hifed

4. % 3Fd

Question Number : 160 Question Id : 9277593575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not the properties of pointwise convergence ?
Options :



1. # The values of the functions fn need not be real numbers
2. # functions taking values in metric spaces
3. # There must be uniform spaces

4. ¥ Every sequence of N has a least element

Question Number : 160 Question Id : 9277593575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 1 foigar SifirRor &1 qore T8 82

Options :

1. % Te fn & U &I IRATdDH G 5H B ATIRIDHT o1 o
2. % Of¢h Y 4 A, oA 91 o

3. % ST AT g+l =1fey

4. ¥ N& UAF 3HH § HH I HH Ufewie giar g
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Question Number : 161 Question Id : 9277593576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Elaborate cos(x?) as a power series.
Options :

1. % 1+H(x*=2)H(x3+4)—(x"2+6!)+...
2.9 1 (x*2)H(x3+4)—(x"2+6!)+...

3. % 1-(x*2D)H(x3H4DHXIZH6!) ...

4. % 1-(x*21)-(x3+4D)—(x12+6!)+...

Question Number : 161 Question Id : 9277593576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
cos(x?) B °Td YW b =Y H fakgd B
Options :

1. % [+x=2D)Hx4D)—(x2+6!)+...

2.9 [—(x*2D)H(xE34)—(x12+6!)+...

3. % 1(x*2N)+H(xP4D)HX26!) ...

4. % 1-(x*2D)-(x*+4D)—(x2+6!)+...

Question Number : 162 Question Id : 9277593577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Find the radius of convergence for the power series:0) n=1(7"+n(3x—1)®")
Options :

1. ¥ 7)3x—1|

2. % (2x+1)+6

3. % 5|x+1]

4, % 31x|4x-9|

Question Number : 162 Question Id : 9277593577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feRT 4l b foTT SHTURROT BT BT 1 Py n=1(7m+n(3x—1)0 )
Options :

1. % 73x—1|

2. % (2x+1)+6

3. % 5x+1|

4. % 31x|4x—-9|

Question Number : 163 Question Id : 9277593578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Metric space is both complete and totally bounded is known as
Options :

1. % Scalar

2. % Complete

3. ¥ Compact

4. % Discrete

Question Number : 163 Question Id : 9277593578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afesw Iy G ot oik &t kg Y uReg &, % = H ST ST g |




Options :

1. % WheR
2. % FHIdIC
3. ¥ Hida
4. % fgwpic

Question Number : 164 Question Id : 9277593579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the incorrect statement for the interiors of A and B given by A° and B° in (X, d)?
Options :

l.¥ ACB=>A°CB°

2. % A°NB°=(ANB)°

3. % A°U B°= (A UB)°

4. ¥ A°UB°C(AUB)°

Question Number : 164 Question Id : 9277593579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(X, d) H A° 3R B° gRI AU T A 3R B & 3ifalkes UIT & T 7Taid S 1 B2
Options :

1.¥ ACB->A°CB°

2. % A°NB°=(ANB)°

3. % A°U B°= (A UB)°

4. ¥ A°UB°C(AUB)°

Question Number : 165 Question Id : 9277593580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the representation of an open disk D(x, y) of radius r centered at origin in R??
Options :



1. ¢ D={(x, y)| x>ty <r?}
2. % D={(x, y) x+y? <1}
3. % D={(x, y)| x*ty* =12}
4% D={(x,y) Xy > )

Question Number : 165 Question Id : 9277593580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

r> T d fog R b Bar r &t 3o f&wb D(x, y) &1 ufaffera s g2
Options :

L. ¥ D={(x, y)| x*+y*> <1*}

2. % D={(x, y)| x*+y* <1}

3. % D={(x, y)| x**y’ =1}

4. % D={(x, y)| x*+y*> 1’}

Question Number : 166 Question Id : 9277593581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If d1, d2 are two metrics on the same set M, Which statement is not equivalent from the following statements :
Options :

1. #® For every metric space (N, d), every f: M — N is d1 continuous iff it is d2 continuous

2. ¥ the union of any finite collection of closed sets is closed

3. ® For every metric space (N, d), every g : N — M is d1 continuous iff it is d2 continuous.

4. ® d1 open and d2 open sets coincide

Question Number : 166 Question Id : 9277593581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g d1, d2 U g Yo M W &1 At §, Y Fufarfd oy o @ &F I 6y e 81 8
Options :

1. % U Afee MY (N, d) P 1T, Ud® £: M — N & 1T d1 9dd & 3 98 d2 gad @



2. ¥ §¢ (Failws) =l & foredt ot uRkftrd Gurg o1 gfg e (Files) §
3. % TP Hiee T (N, d) & 1Y, 5P ¢ : N — M & 1T d1 Fdd & IS 98 d2 Fad 7|
4. % 41 gd (3MT) 3R d2 G (37 = T (DIS133) &

Question Number : 167 Question Id : 9277593582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
We call a topological space T sequentially compact if

Options :
1. # T is not compact, it has a maximal open cover V without a finite subcover.
2. ¥ every sequence in T has a convergent subsequence

3. # 1t T is compact, s € S and U is an open cover of T x S, there is open V C S containing s such that T x V can be covered by a finite
subfamily of U.

4. ® U be the collection of their complements.By De Morgan’s rules, U is a cover of T.

Question Number : 167 Question Id : 9277593582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 Tifkufes (@i en) 9y T &1 i T4 & Biride bed § e

Options :

1. % T HIMge T8l 8, 398 IR Jaoar & {1 by ST P v @

2. ¢ THUIS 3IHH H TR yRome giar g

3. % THIFE G, s € S AR U, T x S BT JAT (3NT) FaR €, 3TH FaAT (3TN Ve ST H s S T@ A e B Tx VBRI U F T
R IUURNAR gRI HaR fobar ST Iod 8|

4. % U 3P DIAHC B 9UE 81| f$AN & ol & S[¥R, U, TR FR 5

Question Number : 168 Question Id : 9277593583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which condition T is not disconnected ?
Options :

1. #® T has a decomposition into two nonempty open sets



2. % T has a decomposition into two nonempty closed sets
3. # T has a subset which is open, closed and is neither @ nor T.

4. ¥ the only decompositions of T into open sets are T=@ U Tand T=T U @

Question Number : 168 Question Id : 9277593583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fUfS A T fexpde 78t g1 82

Options :

1. ® THIa 3R 3u9 It & srgge (SIHHifoRH) §

2. % TH1 3l 3R d¢ (Feliws) Tl H SUHS (SIHHNAT) B

3. % TP IUTHY ¢ ot Gl (3NT), 56 (Fes) g SIRAM @ g IRAS T B

4.« $HId G A | T PT 3Tge (SIHNRA) T=-T IR T=TU &

Question Number : 169 Question Id : 9277593584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not in the automorphism group?
Options :

1. % closure

2. ® associativity

3. # identity

4. ¥ decomposition

Question Number : 169 Question Id : 9277593584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 9T 3fferifthed g9 # el 27
Options :

1. ® TR

2. % THIRyufefact



3. % UgdH
4. ¢ 3(TYC (SIHHIRM)

Question Number : 170 Question Id : 9277593585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let Q be the field of rational numbers. Find the Galois group order of f(x) = x2-2 over Q.
Options :

1.2

2.%3

3.% 4

4. % 1

Question Number : 170 Question Id : 9277593585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH o o @ uRTg =Sl BT &F 81 Q B IW f(x) = x>-2 BT IS THE B (3Ha?) 1 B |
Options :

1.¥2

2.% 3

3.% 4

4. % 1

Question Number : 171 Question Id : 9277593586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a group we know that G is the internal direct product of two subgroups of H and K. It is not true when :
Options :

1. % HK=G

2. # H and K are normal subgroups of G

3. % HNK = {e}



4 ¥ HUK=G

Question Number : 171 Question Id : 9277593586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AW 6 G U TYE ], SH M & fb G, H 3R K & &1 SUTHR! 1 3Males Ue UM% ¢ | I8 I el ¢ o
Options :

1. ¥ HK=G

2. % H3RK, G P I ITTE &

3. % HNK = {e}

4 ¥ HUK=G

Question Number : 172 Question Id : 9277593587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the number of elements of order 7 in Z(49)DZ(7).

Options :
1. ¥ 48
2. % 5]
3. % 49
4, % 56

Question Number : 172 Question Id : 9277593587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Z(49)DZ(7) § BT (3118X) 7 & TlerHe &1 T:AT P TUHT 6N |
Options :

1. ¥ 48

2. % 51

3. % 49

4. % 56




Question Number : 173 Question Id : 9277593588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U(5) and U(12) are finite collection of groups ; U(5) = {1, 2, 3,4} and U(12) = {1, 5,7, 11}. So U(5)PU(12) ?
Options :

1. ¥ (1,5)

2. % (2,7)

3. % (4,3)

4. % (5,3)

Question Number : 173 Question Id : 9277593588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U(5) 3R U(12) THET & GRFIT UG &, U(S) = {1, 2,3, 4} 3R U(12) = {1, 5, 7, 11} | A UG)PU(12) ?
Options :

1. ¥ (1,5)

2. % (2,7)

3. % (4,3)

4. % (5,3)

Question Number : 174 Question Id : 9277593589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let X be a set and G be a group. A group action of G on X is a map * : G x X — X given by (g, x) —g * x such that
1)(gh) * x=g* (h x x) forall g, h € Gand x € X.

2)exx=xforallx € X

If this happens then we say that G acts on X and X is a

Options :

1. ®* G-homomorphism

2. ¥ G-set

3. # G-isomorphism



4. # G-Bijection

Question Number : 174 Question Id : 9277593589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF o o X T § 3R G Th U & | X W G &1 g a1 T URARFUI R + : G x X — X W (g, x) ——g * x SR 39 a8 fea T g &
DA g, he G 3R x e X P AT (gh) * x =g * (h %)

2)HlﬁxEX$ﬁ'|'Qe*x=x

IR UM e N eI Pad & [ G, X W BT T8 IR X &

Options :

1. % GgHHIhSH

2. ¥ GXT

3. % G-3MEaHIfthed

4. % G-fgeiquauur

Question Number : 175 Question Id : 9277593590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let * be a group action of G on X. For x € X, let Gx denote the subset {g * x : g € G} of X.Define an equivalence relation v on X by setting x v
y iff Gx = Gy. The equivalence class of x is known as the

Options :

1. # disjoint union of x
2. % orbit Ox of x

3. % space of orbits Ox

4. % orbit and stabiliser of x

Question Number : 175 Question Id : 9277593590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AW P« XWRG P I P81 x € X F AT, Gx, X F ITAHE {g * x: g € G} DI AT BT R x v y iff Gx = Gy U TP, x W
I ey v DI GRS B | x & Jeadl aF BI & &g H ST ST g |

Options :




1. % x ®1 fdasig< gfHgA
2. ¥ x DI HET Ox

3. % HET Ox DI Y

4. % HET 3R x BT LIATZOR

Question Number : 176 Question Id : 9277593591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a finite group acting on a set X. Then which of the statement is not satisfied the action of G :
Options :

1. # The stabilizer Sx of x is a subgroup of G for every x € X

2. ¥ On(R) (group of orthogonal matrices) and S (unit sphere in Rn).

3. # ker(p) = NXEXSx

4. ® Ify € Ox then there exists h € G such that Sx = hSyh”-1

Question Number : 176 Question Id : 9277593591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH @ 6 G 99=d X R S B arel IR TG 81 ) S I S G B fohdl &I WP el Rl o
Options :

|. % x BT RIAZOR Sx YD x € X P oY G HT ITTHE &

2. ¢ On(R) (SHIFTA AT BT WE) 3R S (R*n H T THRR) |

3. % ker() = NXEXSx

4. % gy € Ox A h € G 3T UHR AINIG § f Sx = hSyh~-1

Question Number : 177 Question Id : 9277593592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If G is a finite group of order 217.Find out the number of generators of the group G.
Options :

1. % 181



2. % 182
3. % 188
4.+ 180

Question Number : 177 Question Id : 9277593592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g G e (31Tex) 217 BT TH TR TE 81 TYE G & SFReR &I T J1d B |
Options :

1. % 181

2. % 182

3. % 188

4.+ 180

Question Number : 178 Question Id : 9277593593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If G be a group of order 57.Assume that G is not a cyclic group. Then what is the number of elements in G of order 3?
Options :

1. % 32

2. % 36

3.9 38

4. % 35

Question Number : 178 Question Id : 9277593593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e G P&l (3ATS) 57 T TH T ¢ | AF ¢ b G Toh 1 THE ol ¢ | o Hef (3feR) 3 & G H e &t T a1 82
Options :

1. % 32

2. % 36

3.9 38



4. % 35

Question Number : 179 Question Id : 9277593594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the analytic region of {(z) = (x-y)* +2i(x+y)?

Options :

l. % x-y=-1
2.¥ x-y=1

3. % xty=2
4. % xty=-2

Question Number : 179 Question Id : 9277593594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f(z) = (x-y)? +2i(x+y) T ARAD & T 32

Options :

1. % x-y=-1
2. ¥ x-y=1

3. % xty=2
4, ® xt+y=-2

Question Number : 180 Question Id : 9277593595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the all values of Z from this equation : ez = 1+V3i .
Options :

l. # In(2) - (n+2+2wn)i ;n € Z

2.% In(2) + (m+3+2nn)i;n €Z

3. % In(2) - (m+3+mn)i;n€Z

4. % In2Q)+(m+2+7wn)i;n€Z



Question Number : 180 Question Id : 9277593595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GHIBRUT: ¢ = 1+V3i Y Z & JHt 7 1 R |
Options :

1. ®* In(2) - (m+2+2nn)i;n € Z

2.% In(2) + (n+3+2nn)i;n€Z

3. %#* In2)-(m+3+mn)i;n€Z

4. % In2)+ (=2 +mn)i;n € Z
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Question Number : 181 Question Id : 9277593596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the magnitude of the expression below : e#, where z is a complex number.
Options :

1. % 1

2.9 ex

3. % (x>+y?)

4. % \(x>-y?)

Question Number : 181 Question Id : 9277593596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i €t 718 Sifiyeafad BT URHTT R § - o ST51 2 A GBI
Options :

1. %1

2.9 ex

3. % (x:y?)

4. ® (x2-y?)

Question Number : 182 Question Id : 9277593597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To prove the Fundamental Theorem of Algebra, we will need the
Options :

1. % Extreme value theorem for two real variables

2. # Real valued functions for two real variables



3.% Both1 &2
4. % Neither 1 or 2

Question Number : 182 Question Id : 9277593597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SeToTd & Hifed Uiy &1 Rig w3 & g, 8 sraxashar gl

Options :

1. % T IRaldd =R & o =RE 94 70y

2. % T IRAIdD IR P ol IRATAD A Had
3.+ 1 3R 2 G
4. % FA1 3R 2

Question Number : 183 Question Id : 9277593598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of x* if x = V-1
Options :

1. # eNn+2)

2. % 1

3.%0

4, ¥ e\(-n+2)

Question Number : 183 Question Id : 9277593598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
xx BT HIF G TG x = V-1

Options :

1. # eNn+2)

2. %1

3.%0



4. ¢ eN(-n+2)

Question Number : 184 Question Id : 9277593599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a connected open set and let : G — f be analytic function. Then which of the following is not an equivalent statements:
Options :

1. % =0

2. % {z€ G:f(z)= 0} has limit point in G

3. ¥ R > 0 is arbitrary, radius of convergence is infinite

4. % there is a point a in G such that f"®for eachn >0 ;

Question Number : 184 Question Id : 9277593599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF A P G T[T 53T AT (3N T § 3R : G — £ IR W 7| af Fafifad o @ oF 91 w9+ oy 81 &
Options :

. % f=0

2. % {26 Gf(z)=0 ) BTG H UH® B

3. ¥ R >0 RIS &, SRR &1 Bwar sHa @

4. % GHUH U1 g & foh ISP n > 0 & AT fn(a);

Question Number : 185 Question Id : 9277593600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the the Taylor series expansion of 3 sin X +2 cos X :
Options :

1. % 2-3x -x> (X*+2)+....

2. % 2+3x - x2- (X32)+....

3. % 23x+X2H(X2) ...

4, ® 243x-x>+(x32)+....



Question Number : 185 Question Id : 9277593600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 sin x + 2 cos x BT ¢TR JUI YR J7d X :
Options :

1. # 2-3x -x2- (x*+2)+....

2.9 243X - x2- (X3+2)+....

3. % 2-3x+x2H(x3+2)+...

4, F 2+3x-x2H(x3+2)+....

Question Number : 186 Question Id : 9277593601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the residues of a function : f(z) =[ 1 + { (z-2)(z+1)* } ]
Options :

1. % (-1+27) & (-1+125)

2. % (1:27) & (1+125)

3.9 (1-27) & (-1+27)

4, % (1+125) & (-1+125)

Question Number : 186 Question Id : 9277593601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BAT: f(z) = [ 1 = { (z-2)(z+1)* } ] T ATHTT J1d B3
Options :

1. # (-1+27) & (-1+125)

2. % (1-27) & (1+125)

3.9 (1:27) & (-1+27)

4. % (1+125) & (-1+125)

Question Number : 187 Question Id : 9277593602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
___isregular element of Z(20)

Options :

1. ® 16

2.% 13

3.% 14

4. % 15

Question Number : 187 Question Id : 9277593602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ 7(20) %1 Frafid wfedic ®

Options :

1. #* 16

2.9 13

3.% 14

4. % 15

Question Number : 188 Question Id : 9277593603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Ring of real quaternion , (1 =21 —3j—2k) "' = ...cccovriinienene
Options :

1. % (1-2i—3j—2k)+18

2.9 (1 +2i+3j+2k)+18

3.% (-1 +2i+3j+2k)+18

4. % (1 —-21—3j—2k)=6

Question Number : 188 Question Id : 9277593603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ARATAD BT B TATH, (1 =21 =3 = 2K) "= evveeereer
Options :

1. % (1-2i—3j—2k) =18

2.9 (1 +2i+3j+2k)+18

3. % (=1 +2i+3j+2k)~18

4. % (1-2i-3j—2k)+6

Question Number : 189 Question Id : 9277593604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A be a 5 x 5 matrix with real entries and x # 0. Then, the vectors x, Ax, A%x, A3x, A*x, AXx are
Options :

1. # linearly independent

2. ¥ linearly dependent

3. # linearly independent if and only if A is symmetric

4. ® linear dependence/independence cannot be determined from given data

Question Number : 189 Question Id : 9277593604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A {6 A aRafde Uil SR x £ 0 % A TP 5 x 5 IATHE & | d, TG x, Ax, A%, A%, A'x, AX §
Options :

1. % QP U ¥ WaA

2. ¢ IRAF U 3P

3. % WP w0 A WA Al IR bad afe A Jud g

4. % QY ST A ¥R MeRaadzar FuiRa 781 &t o 9t 3

Question Number : 190 Question Id : 9277593605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A be a complex n x n matrix. Let A1, A2, A3 be three distinct eigenvalues of A, with corresponding eigenvectors z1, z2, z3. Then, which of
the following statements is false?



Options :
1. % z1 + 22, z1 — 72, 73 are linearly independent.

2. % 71,72, 73 are linearly independent
3. % z1,z1 + 22, z1 + 72 + Z3 are linearly independent
4. ¥ 71, 72, 73 are linearly independent if and only if A is diagonalizable

Question Number : 190 Question Id : 9277593605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A f A TH AIY n x n MG &1 AF T b A1, 42, 23, T SiAeeifOes Tfawr 21, 22, 23 & T A & <14 fafid sifrenefores A €|
a, Fufafead & @ &9 91 HY= 3d 82

Options :

1. % 21 +22, 71 - 22, 723 AQH ®T I WA 5|

2. % 71,22, AAWHF FUJ WA &

3. % 21,21 4+ 22, 71 + 22 + 73 @S TU Y W g

4.9 71, 72, 73 3F ©Y Y Wad § Ife 3R Haq afg A fawoffa g
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Teaching Methodology

Section Id : 927759125
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Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277593606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sociologists have divided society into which stage on the basis of technology, instruments and means of living ?
Options :

1. % hierarchical stage

2. ® positive stage

3. ®* metaphysical stage

4. # theological stage

Question Number : 191 Question Id : 9277593606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR A TieNfen!, JreHT 3R Sia 1o & el & STYR IR JHIS o1 fbd =Rl & fauiiord fovan g2
Options :

1. ¢ UGTIhHd TR

2. % JDRTHD TR

3. % Helfbioihd Wol

4. % Ty3fdiforhd Tl




Question Number : 192 Question Id : 9277593607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is social science?

Options :

1. % Astrology

2. ¥ Sociology

3. % Biology

4. ¥ Geography

Question Number : 192 Question Id : 9277593607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT O o 82

Options :

1. % Ghferd SIfay

2. ¥ HHSIRIE

3. % ofiq fag

4. % Nd

Question Number : 193 Question Id : 9277593608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The language to which a child is predominantly exposed from infancy is known as .
Options :

1. ¥ Mother tongue

2. # Second language

3. # Father tongue

4. # National language

Question Number : 193 Question Id : 9277593608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I8 UV FTY o= e &0 ¥ QSR Y IWFR e, 39 Hel ol g
Options :

1. ¢ T TS

2. % fgdig UTe

3. % fOdT T YT

4. % PTG HIS

Question Number : 194 Question Id : 9277593609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the nature of school subject?
Options :

1. ® serves as criteria by which we learn

2. ¥ Gives a practical approach towards outer world

3. # has a specific code of conduct

4. ® derives content from a wide range of sources

Question Number : 194 Question Id : 9277593609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRaa & 3 &F w1 faenay fawa & uefa =8t 52
Options :

1. ® AFCS & ¥4 H BT ol g oo gRT8H IRad &
2. ¢ 988 g1 & Ufd ATaeTRG VB0 ST 8

3. % U Ry R dfgar g

4. % dl ®1 TP fovga YTar I It U el §

Question Number : 195 Question Id : 9277593610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Gender identity in nearly all instances is self- identified as_

Options :

1. # one’s private sense of being a man or a woman

2. ¥ result of a combination of inherent and extrinsic or environmental factors

3. # it is manifested within society by observable factors such as behaviour and appearance.

4. # Tt is person’s own subjective experience

Question Number : 195 Question Id : 9277593610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I IR A T ugaH &l & TU T WY UgAHI SIal §

Options :

1. % JoY T HGAT 814 1 it SrgHfd

2. Jfaffed 3R I8} a1 vufavuita HR&T & TaieH o1 uRoms

3. % g ANl & HidR S7aeR SR I S 3@ TG SR gRTUHe siaT gl
4. % gg Afad BT AU AfGIRS 1 §

Question Number : 196 Question Id : 9277593611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“ People who have variations of sex characteristics that do not fit with typical male or female bodies.”is called
Options :

1. #® Binary Gendered

2. % Non-Binary Gendered

3. ¥ Intersex

4. ® Genderqueer

Question Number : 196 Question Id : 9277593611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 <l 1 I faRrarsit & firsrdr gict & S I Yoy I Aie el IRR & A & Tel gld 81 3= Hel Sl gl



Options :

1. % fganur foiv (@R slexs)

2. % R-fganer fofr @S es)
3. ¢ ATl

4. % WEIHR

Question Number : 197 Question Id : 9277593612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

James Banks discusses three groups of approaches for multi-cultural education. From following find odd one.
Options :

1. ® The Additive Approach

2. % The social action approach

3. ¥ The Dominance Approach

4. ® The Curriculum/ Contributions Approach

Question Number : 197 Question Id : 9277593612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR S Jg-TRP A FRIET & VB & o G| B! Id HRd ¢ | Fafarad & J fawd 3 11
Options :

1. % NS YN

2. % TSI fohal SUNTH

3. ¢ QY VRN (ST )

4. % UI6I9g1ANTGH ERHI0

Question Number : 198 Question Id : 9277593613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of this is not a origin of knowledge ?
Options :



1. # Objectivism
2. #¥ Pragmatism
3. ¥ Constructivism

4. ® Interpretivism

Question Number : 198 Question Id : 9277593613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T I DA W I BT IA T 2
Options :

1. % fsaedrare (fesiaefder)

2. % YggINedde

3. ¢ JTHIAIG (Hefaeidord)

o

4. % HREATATG (Scufefasm)

Question Number : 199 Question Id : 9277593614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of this is not a characteristic of evaluation?
Options :

1. ® Evaluation is a continuous process

2. # Itis a systematic process

3. # It is not confined to classrooms

4. ¥ It includes only academic subjects

Question Number : 199 Question Id : 9277593614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
290 T I Hedidh & (a9 el 82
Options :

1. % Yo U Tdd Uishal §




2. % Ug HHdg ufshar (RReAfes U) §
3. % g HET[E P ol ITd Tl o
4. ¢ 3TH Had SAPTciie favg e &

Question Number : 200 Question Id : 9277593615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of this is not a model of disability?
Options :

1. # Charity model

2. % Social model

3. % Rehabilitation model

4. ¥ Mental model
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Options :

1. ® IR Arsa

2. % A Hied

3. % gHarg (gfadceH) Arsd

4. ¢ AFRIS (H<d) Hisd




